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Question ID:- 1

While biologically

abilities such as walking can be gained through
biologically

abilities such as writing require

(1) primary; playful interaction with environment; secondary; explicit instruction
(2) secondary; playful interaction with environment; primary; explicit instruction
(3) primary; explicit instruction; secondary; self-driven practice

(4)

4) secondary; eliminating explicit instruction; primary; explicit instruction

FTHIT Trgam oo &3 o F HILAH | grHe g1 9%l 2;
STHIT T o 3 ferae & foam T ATFITFAT grat g |

(1) wrafa=; qfeaer % a1 A2 AT Aeq-THaT0; B3, T Fqa9
(2) TaeT=; gfaer & ar Arv=s T a0 ; Iryfas,; e aagee
(3) FrerfH; Tree sig=e; faditas; =a-Aam o=

(4) FBer; o2 sy &t Fenmar; arrfas; 71 g9

Options:-

«1, Option ID :- 1,

= 2, Option ID :- 2,

=« 3, Option ID :- 3,

= 4, Option ID :- 4,
Answer Given:- 1, Option ID : -1

Question ID:- 2

Which of the following statements is correct in the context of development ?
1) Development is purely a result of heredity only.

2) Course of development is from specific to general.

3) Development happens from outward to centre.

4) Development proceeds from head to toe.

e e, e
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T & g2 § feafortaa § § F9-97 $99 981 ¢ ?

(1) FE=Te QU7 =7 & Faer ATqA AT F g 7o g |
(2) TehTer =1 % fATIree | 77 T A AT E |

Q) FFH AR A FR R AT AT |

@) FFm R aaa R G azar g

Options:-

«1, Option ID :- 5,
=« 2, Option ID :- 6,
« 3, Option ID :- 7,

= 4, Option ID :- 8,
Answer Given:- 4, Option ID : -8

Question ID:- 3

Which of the following is primary socialisation agent/agency for children in primary grades ?
1) Immediate family

2) Cultural beliefs

3) Religious organisation

4) Print media

e, e, e

ITITHE FAT F TJ=41 & oo Fefateg § 7 fe-ar arafis aarsison 551
FILH/ETAT 8 2

(1) FFeay aftare
(2) FrEFfa gremd
(3) &It #9ae

(4) HizT H=T7 q1EAH

Options:-

=1, Option ID :- 9,

« 2, Option ID :- 10,
= 3, Option ID :- 11,

= 4, Option ID :- 12,
Answer Given:- 1, Option ID : -9

Question ID:- 4




In accordance with Jean Piaget's theory of Cognitive Development, at what stage can children
‘mentally do reverse thinking' ?

(1) Sensimotor
(2)
(3)
(4)

4) Formal operational

Preoperational

Concrete operational

S foaTet F HerTes @ F frgra F oo, =4 & aEean § SEa
qWaE =7 F yiaafad F7 954 g ?
(1) HART-TATHF

(2) TH-H AT

(3) T "fwaT=

(4) A== HiETTES

Options:-

«1, Option ID :- 13,
« 2, Option ID :- 14,
« 3, Option ID :- 15,

= 4, Option ID :- 16,
Answer Given:- 3, Option ID : -15

Question ID:- 5

According to Jean Piaget, the process of continually fitting the experiences into our existing

schemas is called ;
(1) Assimilation
(2) Accommodation
3)

)

4) Conceptualisation

Categorisation

(
(

S fOaTeT 6 SATe, AT WIGET ST § Al A A aiEaterd w7 6
PIER D Fgl AT g |

(1) TETIIA

(2) FTHTATSIA

(3) =fraRem

(4) FFeqaT e

Options:-
=1, Option ID :- 17,




« 2, Option ID :- 18,
« 3, Option ID :- 19,

=« 4, Option ID :- 20,
Answer Given:- 2, Option ID : -18

Question ID:- 6

Which of the following theory gives significant consideration to discussions and debates in the
process of learning ?

(1) B. F. Skinner’s theory of Behaviourism
(2
(3
(4) Sigmund Freud’s theory of Psychoanalysis

Lawrence Kohlberg's theory of moral development

)
)
) Lev Viygotsky's Socio-cultural theory
)

faeaferfea & 7 #r-ar fagia da & gfwar § =337 &6 a=-fFae i agq
S RCCLE A

(1) 1. T, AT T 9iaTad sqagaE 7 Hgia

(2) AT FrgaAad| ger Afa® 2w #1 Fgia

(3) T ATIRTIALT FT ATHTH-T TR (o Hgid

(4) FrTeee wige FT 7RI Faia

Options:-

=1, Option ID :- 21,
« 2, Option ID :- 22,
« 3, Option ID :- 23,

= 4, Option ID :- 24,
Answer Given:- 3, Option ID : -23

Question ID:- 7
Seeing a student struggling with a question, her teacher decides to give cues and simplify the
language of the question. In Lev Vygotsky’s theory, this is referred to as
(1) Imitation
(2) Conditioning
3) Scaffolding
)

4) Assimilation

—




e AT i CRET HET | ST S=ET, el AEATIORT I qAT A T HT
HET FOA AT TG H0d I B WO AT g | A AP F g |, 36 AT
FETIATE ?

(1) g

(2) SATFRAT

(3)aTE

(4) SATCHATEHRIT

Options:-

«1, Option ID :- 25,

« 2, Option ID :- 26,

= 3, Option ID :- 27,

« 4, Option ID :- 28,
Answer Given:- 3, Option ID : -27

Question ID:- 8

Lawrence Kohlberg used to evaluate the moral reasoning among children and adults.

(1) hypothetical situations
(2) paper-pen test

(3) drawings

(4) report cards

A FIgaadl F F=4i U5 ATt § AdH T F1 qediae & (o0 e STA0T
T 2

(1) aivawfoad gt
(2) FITT-FeAT ATATIE A TIET

Options:-

«1, Option ID :- 29,
= 2, Option ID :- 30,
« 3, Option ID :- 31,

= 4, Option ID :- 32,
Answer Given:- 1, Option ID : -29

Question ID:- 9




Advocates of constructivism give importance to

1) Child-centred curriculum
2) Culturally non-responsive pedagogy

3) Overlooking the individual differences

(
(
(
(

4) Convergent ways of thinking

THATATE T FHAT F7d AT (6 Aged 30 ¢ 2

(1) STT-HTFT qr=r=TT AT

(2) BT =7 7 aqaeaT feremssig gttt #ir
(3) AT TI=TaTedl & ATaaT T3 0

(4) =vae = s a3t &

Options:-

«1, Option ID :- 33,
« 2, Option ID :- 34,
« 3, Option ID :- 35,

« 4, Option ID :- 36,
Answer Given:- 1, Option ID : -33

Question ID:- 10
Intelligence Quotient (IQ) tests are criticised for

1) being considerate of cultural diversity.
2) conceptualising intelligence as a set of different abilities.

3) ignoring the influence of environmental factors on test performance.

e e, e

4) considering social factors in measuring memory, reasoning and verbal skills.

iz @l (1Q) T 1 A=A T T ST g FA06 o

(1) TR AT 7 eqm= | 76 2 |

(2) Az =1 ATH~ FoaTdl & UF T9g F FTH ATATE |

(3) AT ATHTER TT T a0l 1Al & THF &l A9-3aTH F94 g |

(4) TR, T T WiEE Hrerel & G099 § ATHIS0 FILH] D0 2079 | 73 2 |

Options:-

=1, Option ID :- 37,
« 2, Option ID :- 38,
« 3, Option ID :- 39,

= 4, Option ID :- 40,
Answer Given:- 4, Option ID : -40




Question ID:- 11
Which of the following statements is correct in context of language and thought ?

1) Jean Piaget suggested that language facilitates cognition.
2) Lev Vygotsky suggested that language has no influence on thinking.

(
(
(3) Jean Piaget suggested that thinking depends on speech.
(

4) Lev Vygotsky suggested that language enables tools for thinking.

T 7 F= F g § fFufotea § § we-ar w99 985 g 2

(1) Sirer TorTey & Fedtiad B g & 9oy 9509 § 3815 2l g |

(2) T ATITAT F Tt T g & arar #71 S5 9w FE a9 781 2ar e
|

(3) st foramsr 7 weartas B 2 & S wear g fiv dem e AT s g
|

(4) T ATAITeERT 7 FEATEE AT a e e w7

Options:-

«1, Option ID :- 41,
= 2, Option ID :- 42,
= 3, Option ID :- 43,

=« 4, Option ID :- 44,
Answer Given:- 4, Option ID : -44

Question ID:- 12

Gender is dominantly a/an construct.
1) biological

2) social

3) medical

(
(
(
(

4) arbitrary

Options:-
«1, Option ID :- 45,




« 2, Option ID :- 46,
« 3, Option ID :- 47,

=« 4, Option ID :- 48,
Answer Given:- 1, Option ID : -45

Question ID:- 13

Assertion (A) :

In order to cater to the needs of students belonging to diverse socio-economic backgrounds, a
teacher should adopt standardised curriculum.

Reason (R) :

Standardised curriculum takes care of all kinds of individual differences.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A) is true but (R) is false

(4) Both (A) and (R) are false

FTZFIT (A)

AT FrATSF-arias TosgiH arer T2t i a9 arat 1 T 74 F
7% (R) :

ATAFTHd TET=TAT T4T THTE il SR e Tarsll 1 279 § Tgar 2 |
T8 o 3

(1) (A) 3 (R) Tt 1 & 317 (R), (A) ¥ 7T =0 F7a7 §

(2) (A) ST (R) ST &L € @i (R), (A) FT Tl 20T T g

(3) (A) T & @6 (R) T4 €

(4) (A) & (R) =TT 79 §

Options:-

=1, Option ID :- 49,
« 2, Option ID :- 50,
= 3, Option ID :- 51,

= 4, Option ID :- 52,
Answer Given:- 4, Option ID : -52

Question ID:- 14




Formative assessment is done

(1) at the end of session.

(2) through standardised tests only.

(3) thoughout the teaching-learning process.
(

4) by a special educator only.

THACHE AT
()T % d@q 8 AT srar g |
(2) FAT AR T % qTErs ZTET o 9man g |
(3) FHAT TOrAT-ATERTH ThAT ST T v g |
(4) Faer w Tafeny forers grer T a2 |
Options:-
«1, Option ID :- 53,
« 2, Option ID :- 54,
« 3, Option ID :- 55,

=« 4, Option ID :- 56,
Answer Given:- 3, Option ID : -55

Question ID:- 15

Which of the following approach is likely to promote critical thinking among students ?
1) Asking close-ended factual questions
2) Helping students develop hypothesis

3) Encouraging convergent thinking

e e, e

4) Teaching using textbooks only

fAeaferfes T & F9-9 3o & g Aentaan § aqrer==reas Ha & agmEn
3 T HATFATE 2

(1) F=-3F AT TET ATATT T9T TSAT

(2) ot Ft fAwteg w20 § F=mdt v agaer 3497

(3) ATHAT = 7 2= 347

(4) FAT &L G120 TRTHT

Options:-

=1, Option ID :- 57,
= 2, Option ID :- 58,
« 3, Option ID :- 59,




« 4, Option ID :- 60,
Answer Given:- 2, Option ID : -58

Question ID:- 16
For successful inclusion of students belonging to Scheduled Tribe (ST), it is important to

1) teach in the language preferred by the dominant group.
2) ignore their cultural knowledge and experiences.

3) provide educational materials developed in their local language.

e e, e

4) maintain social distance between school and their community.

ag=d SAwrg (ST) & =t & q9Ees #1 §%q a9 & o 7g

FEAT

(1) THE T BT T93 il ST JTeAT 77 § 9@ 37 S |

(2) I ATERTAH AT AT ATFAT T ATIET HT ST |

(3) T AAAT TATHT ATAT F FATS T2 T8 ATHRAT FHl IUeE FLAAT ST
|

(4) FE=mer T T I THE & &= AT 320 H1AH Tl | |

Options:-

«1, Option ID :- 61,
= 2, Option ID :- 62,
« 3, Option ID :- 63,

« 4, Option ID :- 64,
Answer Given:- 3, Option ID : -63

Question ID:- 17

Students with Dyslexia are likely to

1) show eagerness to write long essays.

(

(2) have advanced vocabulary.

(3) comprehend text with much ease.
(

4) be reluctant to read.

fevarfaaT & afaa et

(1) &= f=ier forae o 70 sgd Soph 2l 2 |
(2) g TETaT a=aTae 1 T TR 2 2 |
(3) TEA-ATHIHT T AZT AT F AHHT 3 |
(4) Tz % for srfegen g 2 |




Options:-

=1, Option ID :- 65,
« 2, Option ID :- 66,
= 3, Option ID :- 67,

= 4, Option ID :- 68,
Answer Given:- 4, Option ID : -68

Question ID:- 18

Which of the following becomes a barrier for inclusion of students with visual impairment ?

1) Audio taped notes
2) Braille books

3) Verbal descriptions of visual aids

(
(
(
(

4) Written or printed materials

fFeferfes 9 & greatiaa F=nfae F qarae § 19 UF aresF a991 g ?

(1) e it 2 =T |t

(2) 51 AT ATt e

(3) FeATeHF HETTFH-ATHIT F AT =T
(4) Trfera = giza A

Options:-

«1, Option ID :- 69,
« 2, Option ID :- 70,
« 3, Option ID :- 71,

« 4, Option ID :- 72,
Answer Given:- 4, Option ID : -72

Question ID:- 19

Which of the following is directly associated with ‘Attention Deficit Hyperactivity Disorder’ ?
1) High attention span

(

(2) Persistent impulsivity

(3) Low activity levels

(4) Extended patience to listen




freaferfas § & == ‘earrars ve gfaatwgar Fwe 7 |@«9fea g 2

(1) T=F HTATT FATH

(2) 37 rawTefrerar

(3) fi=w =i Framefterar
(4) 7= % foro Bt 99

Options:-

«1, Option ID :- 73,
= 2, Option ID :- 74,
« 3, Option ID :- 75,

=« 4, Option ID :- 76,
Answer Given:- 1, Option ID : -73

Question ID:- 20
A key characteristic of 'Giftedness’ is

(1) High levels of intellectual ability
(2) Lack of creativity

(3) Impaired communication skills
(

4) Tendency to copy other's ideas

“GIAATITEAT F=41 1 U THT A99ar g

(1) == == i Sifzs auar
(2) TAATCHHAT T FHHT
(3) ATTET FETT FreTer
(4) T B TR = e o Y g
Options:-
«1, Option ID :- 77,
»« 2, Option ID :- 78,
« 3, Option ID :- 79,

=« 4, Option ID :- 80,
Answer Given:- 1, Option ID : -77

Question ID:- 21




Assertion (A) :

A teacher should present the contents to be taught in the form of connected and organised
manner.

Reason (R) :

Learning is a passive process.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

3) (A) is true but (R) is false
)

(
(4) Both (A) and (R) are false

w7 (A) :

=TT |

7% (R) :

HivaeT v A itwT afwan g |

el faseT Fi=T -

(1) (A) @7 (R) THT T2T & &7 (R), (A) FT 7T =0T 7T 2
(2) (A) 3T (R) ZrT 72T & @t (R), (A) 7 720 s 78 8
(3) (A) T & 3 (R) 7o 2

(4) (A) &% (R) =TT T §

Options:-

=1, Option ID :- 81,
« 2, Option ID :- 82,
« 3, Option ID :- 83,

= 4, Option ID :- 84,
Answer Given:- 3, Option ID : -83

Question ID:- 22
According to contemporary theories of cognition, memory is

(1) capable of construction but incapable of interpretation
(2) capable of construction as well as interpretation

(3) capable of interpretation but not capable of construction
(

4) capable of neither construction nor of interpretation




HIATT o HHFTCA Hgial & qqane, T

(1) =TT 7 | T AT (Aa=aT F9 § 9999 T |
(2) =TT TE A=A T T T 96

(3) FE=AT F9 H T 97 FH0 7 F amAT g |
@FTI A H AT E FAETT A O E g |

Options:-

«1, Option ID :- 85,
= 2, Option ID :- 86,
« 3, Option ID :- 87,

=« 4, Option ID :- 88,
Answer Given:- 2, Option ID : -86

Question ID:- 23
In order to promote construction of knowledge by learners, a school should promote
pedagogies.
(1) child-centric
(2)
(3) teacher-centric
(4) textbook-centric

exam-centric

forerTfea gy s F =i 1 sgEr 39 F o, v Gere #
forequremTEs Ty TTETEET 1 A=TEr 397 AR |

(1) AT

(2) THAT-HTRT

(3) Forear=-FET

(4) TR T
Options:-

«1, Option ID :- 89,

= 2, Option ID :- 90,

« 3, Option ID :- 91,

= 4, Option ID :- 92,
Answer Given:- 1, Option ID : -89

Question ID:- 24




Which of the following is nof a part of universal design for learning guidelines ?

1) Multiple means of engagement
2) Multiple means of discrimination

3) Multiple means of representation

(
(
(
(

4) Multiple means of expression

feafafea 8 & aftme Ren-fFEen F o #i9-ar st afaswer w1 e
T ?

(1) TEATRMET F Fgi=e qre=
(2) 9= F AgAd TEH

(3) FTa = Teree = sgiae ara=
(4) ATH=rT=F F Fgi=ag aii+

Options:-

«1, Option ID :- 93,
« 2, Option ID :- 94,
« 3, Option ID :- 95,

=« 4, Option ID :- 96,
Answer Given:- 2, Option ID : -94

Question ID:- 25

Which of the following promotes problem solving ?
1) Analogical thinking
2) Functional fixedness

3) Response set

(
(
(
(

4) Convergent thinking

Aot § o free g 99w FHT 1 "gar G ST awar g ?
(1) =TT T

(2) FTETHF Faear

(3) FTaTHATAT T AH=T

(4) AteaTT o

Options:-

=1, Option ID :- 97,

« 2, Option ID :- 98,

« 3, Option ID :- 99,




« 4, Option ID :- 100,
Answer Given:- 2, Option ID : -98

Question ID:- 26

Assertion (A) :

Young children come to school with already developed ‘naive’ theories about their
surroundings.

Reason (R) :

Such understandings are purely irrational and should be ignored.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A) is true but (R) is false

(4) Both (A) and (R) are false

FTIFTT (A) -

Rrermer 9 & O g A== & oy afaer f wwE A & e frgr weE
e g |

7% (R) :

TH T T AHA T T T AT g AT Tl ATl FAt A0 |
SEREL e (i

(1) (A) 3 (R) 17 72T & o (R), (A) 1 7T =7 F7ar §

(2) (A) T (R) =TT A € A (R), (A) FT T 20 721 ¢

(3) (A) T g @57 (R) T4 g

(4) (A) & (R) =TT 1 &

Options:-

«1, Option ID :- 101,
« 2, Option ID :- 102,
=« 3, Option ID :- 103,

« 4, Option ID :- 104,
Answer Given:- 2, Option ID : -102

Question ID:- 27
Which of the following statement about emotions is nof correct ?

(1) Emotions influence information processing skills.

(2) Emotional development gets influenced by environmental factors.
(3) Emotions and cognition are completely independent of each other.
(

4) Emotions influence motivation to learn.




ATl F A1 F Faferiad § & F1-97 F499 951 7gl g ?

(1) ATAATE FTIAT FT THAT FTF ATAT TAAT HT AT FAT 2 |
(2) AT AT e Fen & T9TET grar g |

(3) ATARTY ST HHATH (AT ATH-AT § TH-FAC F = 2 |

(4) ATEATT AT TorT Ateswo 7 TArET FIAT S |

Options:-

«1, Option ID :- 105,
= 2, Option ID :- 106,
« 3, Option ID :- 107,

« 4, Option ID :- 108,
Answer Given:- 4, Option ID : -108

Question ID:- 28

Which of the following is nofan example of intrinsic motivation ?
(1) Curiosity

(2) Interest

(3) Urge for clarity

(4) Striving for prize

fAeafarfad & & F19-97 A6 FTHUT0T FT I TGl g ?

(1) =

(2) ==

(3) FeeaT = form =g

(4) gTERTZ uTe % Torm s T

Options:-

«1, Option ID :- 109,
»« 2, Option ID :- 110,
= 3, Option ID :- 111,

« 4, Option ID :- 112,
Answer Given:- 4, Option ID : -112

Question ID:- 29
Learning is more effective if

1) Content is related to real-life experiences.
2) Material is too abstract and complex.

3) Content is delivered in disconnected chunks.

e e, e

4) Previous knowledge is not activated.




(1) AT T ATEAEF-STAT F ATHAT T T ST 0 |
(2) 5 AT AE & A U FEe g

(3) A== T HHaZ T H THSI-ZFEl | TEAT &7 |
(4) T T | Tagar eI 7 it 710 |

Options:-

«1, Option ID :- 113,
= 2, Option ID :- 114,
« 3, Option ID :- 115,

« 4, Option ID :- 116,
Answer Given:- 1, Option ID : -113

Question ID:- 30

To create a conducive learning environment, a teacher should

1) foster collaboration among students
2) have very low expectations from students

3) avoid giving mastery-oriented feedback

e e, e

4) not give any autonomy to students

T e (FHET) HEe FT AEar a9 F fow, v fres B R e
T ?

(1) FE=ntd=i & #i= 9garT 1 F21E 397 FMie0

(2) A==t T g3 7 A74T @1 A0

(3) HEA-I7H@ T 39 & F=7 ATZT

(4) =T 1 e ST T2l &A1 A0

Options:-

=1, Option ID :- 117,
« 2, Option ID :- 118,
« 3, Option ID :- 119,

= 4, Option ID :- 120,
Answer Given:- 1, Option ID : -117

Subject : MATH_Q31-45_P1_CTET

Question ID:- 31




1
A 168 m long rope is cut into equal pieces of length BE m. How many such pieces of the rope

are obtained ?
(1) 16
(2)17
(3)18
(4)19

168 maﬁﬁwmﬁﬁ% m TS F FYTET ZHEl | FHEr T47 | T TR a7
THT F oA g% ITA g & ?

(1) 16

(2)17

(3)18

(4) 19

Options:-

=1, Option ID :- 121,

« 2, Option ID :- 122,

« 3, Option ID :- 123,

= 4, Option ID :- 124,
Answer Given:- 3, Option ID : -123

Question ID:- 32

Obtain (K + P) from the following addition :
5843103
+26K7P82

8521095
(1) 14
(2)15
(3)16
(@) 17

Options:-

«1, Option ID :- 125,
« 2, Option ID :- 126,
=« 3, Option ID :- 127,

« 4, Option ID :- 128,
Answer Given:- 3, Option ID : -127




Question ID:- 33

The average temperature of 6 days is 32°C. If the temperature on first 5 of these days (in °C)
was 31, 31.5, 32.5, 31 and 32, then the temperature (in °C) on the sixth day was :

Options:-

«1, Option ID :- 129,
« 2, Option ID :- 130,
= 3, Option ID :- 131,

= 4, Option ID :- 132,
Answer Given:- 4, Option ID : -132

Question ID:- 34

LCM and HCF of x and y are 4 times and 2 times respectively of the HCF of 42 and 120. If x is
36, then what is the value of y ?

X #T y & LCM AT HCF FH9T: 42 &f¥ 120 % HCF %7 4 IAT A< 2 AT 2 | Tf=2
X T HIT 36 g, a7 y FT HT7 F4T ZHIT ?

(1)3

(2)6

(3)8

(4)12

Options:-

«1, Option ID :- 133,
« 2, Option ID :- 134,
« 3, Option ID :- 135,

= 4, Option ID :- 136,
Answer Given:- 2, Option ID : -134

Question ID:- 35




Which of the following has the smallest value ?

1) 3670 + 800 + 20
2) 3955 + 601 -80
3)4500 - 128 + 40
4) 4600 - 150 -29

— o p— — —

feaferfas 5 & Fasr = aaa 9 ¢ 2

(1) 3670 + 800 + 20
(2) 3955 + 601 - 80
(3) 4500 - 128 + 40
(4) 4600 — 150 — 29
Options:-
«1, Option ID :- 137,
= 2, Option ID :- 138,
=« 3, Option ID :- 139,

« 4, Option ID :- 140,
Answer Given:- 4, Option ID : -140

Question ID:- 36

1
Shweta cut a cake on her birthday. She gave half of the cake to her three friends, kept 2 of it

for her sister and the rest for herself. Later, two more friends came and she divided her partin
three equal pieces and they ate together.
How much part of the original cake could she eat ?

(M1
3
(21
6
(31
8

1
12




GAAT 7 AT FWeated T 6 FET | TAT ST Foh ATHT A7 dgierdi 0 =,
TR W ST A F O AT 6w o T | AT 3§, gee
e =T |

A T e AT FhaAr qT A ?

3.1
(1)1
2t
(21
<) U
3) 1
4) 1
(4)—
Options:-
«1, Option ID :- 141,
= 2, Option ID :- 142,

« 3, Option ID :- 143,

= 4, Option ID :- 144,
Answer Given:- 2, Option ID : -142

Question ID:- 37

1
25 right-angles are equal to

1) 240°
2) 260°
3) 225°
4) 245°

—

1 = e =,
2- T AefeiaT & & G aae g 2

(1) 240°

(2) 260°

(3) 225°

(4) 245°
Options:-

«1, Option ID :- 145,
« 2, Option ID :- 146,
« 3, Option ID :- 147,

= 4, Option ID :- 148,
Answer Given:- 3, Option ID : -147




Question ID:- 38

Which of the geometrical shapes — Equilateral triangle, Parallelogram, Rhombus, Rectangle
and Square have two lines of symmetry ?

(1) Equilateral triangle and Parallegoram

3) Rectangle and Rhombus

)
(2) Rhombus and Parallelogram
(3)

(4) Square and Rectangle

SATHATT AT — A9aTg Brgs, 99y 94, T9aqas, daq & 79, § 7
e TRt T 31 "HHT YT g g ?
(1) FHaTE st 997 AHTAT IgaS
(2) FTFGS TAT AT AGHN

(3) AT FAT AAAGHS

(4) 3T FAT ATAF

Options:-

«1, Option ID :- 149,
« 2, Option ID :- 150,
=« 3, Option ID :- 151,

» 4, Option ID :- 152,
Answer Given:- 4, Option ID : -152

Question ID:- 39

Which of the following statements is/are true ?
(i) Through two given points many lines can pass.
(ii) Through a given point only one line can pass.
(iii) Three collinear points cannot form a triangle.

(iv) Sum of two obtuse angles is always a reflex angle.
(1) Only (i) and (iv)

(2) Only (ii) and (iii)

(3) Only (iii) and (iv)

(4) Only (iii)




freaferfaT 5 & F9-97/F F97 97 28 ?
(i) =TT fEege & g S gE e A g e E
(iiy X gm v famg & gre STt g€ FAe U v g1 e g |
(iii) =T G Toeg UF BS JE 497 96 |
(iv) =T AT F07T 7 A wET T A S Ty |
(1) FA (i) & (iv)
(2) A (i) &7 (iii)
(3) FA (iii) #F (iv)
(4) ¥ (iii)
Options:-
«1, Option ID :- 153,
»« 2, Option ID :- 154,
« 3, Option ID :- 155,

= 4, Option ID :- 156,
Answer Given:- 4, Option ID : -156

Question ID:- 40

A train started at 8:50 am. It covered a distance of 420 km with a speed of 70 km/h and a
distance of 120 km with a speed of 80 km/h. In between the journey, the train stopped at 3

stations for 5 minutes, 8 minutes and 12 minutes respectively. At what time did it reach its
destination ?

(1)4:05 pm
(2) 4:45 pm
(3)4:50 pm
(4) 5:45 pm

T TORTTET 9 8:50 am TT FAqT W 3T | 397 420 km ¥ T 70 km/h F97
120 km T ZLT 80 km/h T =Ter 7 97 T | T § o TONTST 3 F9H1 U7 HHI:
5 iz, 8 == 7 12 9z & oo =61 | 38 Yemgt A a9 o7 99+ i9eT
T 97 TgAr ?

(1) 4:05 pm
(2) 4:45 pm
(3) 4:50 pm
(4) 5:45 pm

Options:-
«1, Option ID :- 157,




« 2, Option ID :- 158,
« 3, Option ID :- 159,

= 4, Option ID :- 160,
Answer Given:- 2, Option ID : -158

Question ID:- 41
Which of the following statements is correct ?

1) 2 litres is less than 205 mL
2) 1.69 m is equal to 1690 cm
3) 6.25 litres is more than 6 litres 25 mL

(
(
(
(4)9 kg 75 g is equal to 975 ¢

feaferfas 5 & F9-97 99 T8 g ?

(1) 2 =T FT 2 205 mL &

(2) 1.69 m T £ 1690 cm F

(3) 6.25 #iex AfAF 6 ez 25 mL &
(4)9kg 75 g TTETE 9759 F

Options:-

«1, Option ID :- 161,
» 2, Option ID :- 162,
=« 3, Option ID :- 163,

= 4, Option ID :- 164,
Answer Given:- 2, Option ID : -162

Question ID:- 42

The distance between two cities on 2 map is 19.2 cm. If 0.5 cm on the map is equal to 3 km on
the ground, then what is the distance (in m) between the two cities ?

(1)115.2
(2) 1152
(3)11520
(4) 115200




= 9T 27 a8 % S #it T80 19.2 em g | If=F /== 97 0.5 cm 97 3
km F & g, AT 341 A8 & o= 5t 71 (m ®/) BT grft 2
(1)115.2

(2) 1152

(3) 11520

(4) 115200

Options:-

«1, Option ID :- 165,
= 2, Option ID :- 166,
« 3, Option ID :- 167,

« 4, Option ID :- 168,
Answer Given:- 4, Option ID : -168

Question ID:- 43

What comes next is the following pattern ?
121,2Y4,3X9,4W 16,

(1)5 U 25
(2)5V 25
(3)6V 25
(4)6 U 36
reforfara S T T == Aroe 2
121,2Y4,3X9 4W 16,

(1)5 U 25
(2)5V 25
(3)6V 25
(4)6 U 36

Options:-

«1, Option ID :- 169,
=« 2, Option ID :- 170,
« 3, Option ID :- 171,

= 4, Option ID :- 172,
Answer Given:- 2, Option ID : -170

Question ID:- 44




Aditya spends his time during a day as shown below :

Sleep 7 hours
School 6 hours
Play 2 hours
Watching TV 2 hours
Others 7 hours

If this data is shown in a pie chart, what will be the difference in the central angles related to
sleep and play ?

Options:-

«1, Option ID :- 173,
« 2, Option ID :- 174,
» 3, Option ID :- 175,

= 4, Option ID :- 176,
Answer Given:- 2, Option ID : -174

Question ID:- 45

The temperatures of five cities on a day at 2 am and 2 pm are given below :

City Temperature at Temperature at
2am (in °C) 2 pm (in °C)
Chennai 214 36.3
Delhi 18.9 28.5
Kolkata 12 281
Mumbai 15.2 38
Srinagar 2.3 12
Which city shows the least rise in temperature ?
(1) Chennai
(2) Delhi
(3) Mumbai
(4) Srinagar
Options:-

=1, Option ID :- 177,

« 2, Option ID :- 178,




« 3, Option ID :- 179,

= 4, Option ID :- 180,
Answer Given:- 4, Option ID : -180

Subject : MATH_Q46-60_P1_CTET

Question ID:- 46
Mathematical communication in a classroom can be enhanced by

1) reading the chapter given in the mathematics textbook before solving questions.
2) making children learn definition of important concepts.

3) giving opportunities to children to express their mathematical ideas.

e, e

4) learning about life history of different mathematicians.

T HOWOT T AT H = ETET AETAT AT JheT 3 |

(1) FHEAT ZT FTA & TgA T T IEEE § =ET 0 9T A OE
(2) =1 T TETATT AT T TRATIT g

(3) F=AT Fl I& Ao 17 =T FT ATH=TFT F9 & ATTT T2 0
(4) =t wrivrastt & staw efagm & afeery

Options:-

«1, Option ID :- 181,
»« 2, Option ID :- 182,
« 3, Option ID :- 183,

» 4, Option ID :- 184,
Answer Given:- 3, Option ID : -183

Question ID:- 47

Identify the proper mathematical symbol for “If P then Q.
NP=Q
2)P=Q
3)Q=>P

(
(
(
@PeoQ

“Tf2 P A1 Q" & Torg adie/3ua iy =g &t ug=m e |
(MmP=Q
2)P=Q
3)Q=P
4P Q




Options:-

=1, Option ID :- 185,
« 2, Option ID :- 186,
= 3, Option ID :- 187,

= 4, Option ID :- 188,
Answer Given:- 4, Option ID : -188

Question ID:- 48

According to National Curriculum Framework, 2005, which of the following mathematical skills
are potinvolved in visual learning ?

(1) Data handling
(2) Representation
(3) Visualization
(4)

4) Deductive Reasoning

TTEET UTEEAT =T, 2005 F gare, e § 7 sw-ar afieg s
397 ATAH | Aqr=8T qgie ?

(1) AFET FT Tgeaq
(2) A=

(3) geATHr

(4) RS Fa=

Options:-

=1, Option ID :- 189,
« 2, Option ID :- 190,
= 3, Option ID :- 191,

= 4, Option ID :- 192,
Answer Given:- 4, Option ID : -192

Question ID:- 49

It is found that many children living in traditional occupational settings like market places,
trading zones, etc are able to do mental calculations very easily.

These skills

(1) are not suitable for formal school mathematics.

(2) can be discussed in class by teachers for introducing various strategies adopted by
different cultures in solving problems.

(3) cannot be used for the purpose of assessing a child’s level of cognition.

(4) are too ambiguous and can only be learnt by children living in such settings.




Options:-

«1, Option ID :- 193,
= 2, Option ID :- 194,
« 3, Option ID :- 195,

=« 4, Option ID :- 196,
Answer Given:- 2, Option ID : -194

Question ID:- 50

According to National Curriculum Framework, 2005

must be given least importance in
mathematics at primary level.

(1) Logical reasoning
(2

)

) Precision

3) Problem-solving
)

—

4) Visualization

T OISRl FO4ET, 2005 F AGATT A WIAHE T 97 g J
(1) AT ==

(2) FETHAT

(3) THEAT-HHTATH

(4) FeATFHTIT

Options:-

«1, Option ID :- 197,
« 2, Option ID :- 198,
« 3, Option ID :- 199,

= 4, Option ID :- 200,
Answer Given:- 2, Option ID : -198

Question ID:- 51

Which of the following statements is least related to Mathematical Modelling ?

(1) An application of mathematics to solve problems in everyday life.
(2) Making assumptions and approximations to simplify a problem.

(3) Identifying important quantities and using tools or representations to find their
relationships.

(4) Using concrete models as teaching-learning material in mathematics classroom.

"~

Options:-




«1, Option ID :- 201,
« 2, Option ID :- 202,
« 3, Option ID :- 203,

« 4, Option ID :- 204,
Answer Given:- 4, Option ID : -204

Question ID:- 52

"~

FeT1-IV F F=nfia s 9= & 37 ant #@er @ T3 Jet dGemm s oad
qHE o FEfatEa § F F19-A7 T Faids STaFd g ?

(1) 372 T FATAT T3 S0T ATEAT FEAT H9T It @ TAT A= are | F&47 gL ardr g
|

(2) 9= ¥ 9f9=T 59 AR TT, AIATRT UE F Stad B & greted
<, A ST FT A THAT F, FHHfT 1 F=rAriEs T F THAq; A
HHEAT | 72T FAT |

(3) #9r T BT AT TLATUT Fooel o6 TATA HATH AHAAT § =TT 1 9T
1Y T T TgATA 6 fo7 FigAT |

(4) g afaTioa %2 % gor fora feer PRt g / awg 5 7 B T g ag
#= ATt @A g q 9T S B9 399 | ==4iba B 1 g Ag e A
AT 2 |

Options:-

«1, Option ID :- 205,
« 2, Option ID :- 206,
=« 3, Option ID :- 207,

=« 4, Option ID :- 208,
Answer Given:- 2, Option ID : -206

Question ID:- 53

"]




gratE =T F femtdEr #r ' fosmwgren 7 gitET e F o
et § 5 F19-971 "aiias 37 2 ?

(1) TH THRATHATT ATATIST HISTT ST T U5 Herw J197 97 AT 8 |

(2) 7= F1 At gt Fi gframm S |

(3) T THATFATT Ao HTorT 5FH AHTTF TEANHIT FT ITAN FT
ATEA -5 (A7 T TEAT FT A797 7 &7 76 |

(4) F==T =T AHTIAT F AT e ST AT ATIAT (F6er) FT ITANT FL Irg
TAAT AT JTIA FT FiG |

Options:-

«1, Option ID :- 209,
« 2, Option ID :- 210,
=« 3, Option ID :- 211,

« 4, Option ID :- 212,
Answer Given:- 3, Option ID : -211

Question ID:- 54
Which of the following holds true for remedial teaching in mathematics ?

(1) It helps to identify gifted children in a mathematics class.
(2) It helps children to excel in competitive exams.

(3) It is beneficial only for children with special needs.

(

4) It is done to overcome difficulties in learning mathematics.

fAeforfera & & Fm-a1 70T § ST=TL fore F HqEg § 7915 g 2

(1) =g T 3T AT § FIAATATAT T==1 ] Tg=ATA § TrIam Fear g |

(2) T F=A1 T TIATTAT THATA H et T4 F2d F AZAam Fi2aT ¢ |
(3) g FaAeT (AT ATAGAFHATSAT AT =41 =6 {17 g ATHIAF 2 |

(4) 7 TN AT F A1 ATAT FISATZAT FT T F27 % oy Frar S g o

Options:-
«1, Option ID :- 213,

« 2, Option ID :- 214,
« 3, Option ID :- 215,

= 4, Option ID :- 216,
Answer Given:- 4, Option ID : -216

Question ID:- 55




Which one of the following is the most appropriate and important feature of a mathematics
textbook at Primary level ?

(1
(2
3
4

It should contain more problems for the students to practice.
It should be colourful and designed in an attractive way.

It should focus more on the theoretical concepts.

T ® | S et

(
(4) It should focus more on contextual examples and activities while introducing mathematical
concepts.

Options:-

«1, Option ID :- 217,
« 2, Option ID :- 218,
=« 3, Option ID :- 219,

« 4, Option ID :- 220,
Answer Given:- 2, Option ID : -218

Question ID:- 56

Student’s performance in a mathematics class is not evaluated in terms of
(1) Problem-Solving Ability

(2) Rote Memorizing Ability

(3) Logical Thinking Ability

(4) Visualisation Ability

arforer = AT § T FRmdT o oo T geait e a7 Al agic ?

(1) THT-HHTETT AqFAT
(2) FFET R HT FHAT
(3) arfeen A =T
(4) ZeATHTIT GHAT

Options:-

=1, Option ID :- 221,
= 2, Option ID :- 222,
« 3, Option ID :- 223,

= 4, Option ID :- 224,
Answer Given:- 2, Option ID : -222

Question ID:- 57




Which of the following can be considered as a higher aim of mathematics education at
elementary level according to National Curriculum Framework, 2005 ?

(1
(2
(3
(4

To develop numeracy skills in children
To make children experts in calculations

To develop clarity of thought and logico mathematical thinking

T o o e®

To build skills for competitive exams in future

TTEET OISt =0dr, 2005 F aqa aries w7 97 Feferfaa § F -
T2 T forerT 29 S=F Ied AT AT g ?

(1) T=AT | AEATHSF D19 T =H FHeAT

(2) T=AT HT TTFAT FI9AA H T84 FHTAT

(3) A== At Fqv=aT TAT THII AT =T 7 & wear
(4) G F TIT AT TEIATSA o Hrere HT a0 F:7

Options:-

=1, Option ID :- 225,
« 2, Option ID :- 226,
= 3, Option ID :- 227,

= 4, Option ID :- 228,
Answer Given:- 1, Option ID : -225

Question ID:- 58

L

FAT & 50% TA=nta=i § wiva § v fawg 7gi a9 | (eteiag T 7 fi-HT,
T & afenms § a==1 1 Agrar w94 i I s agite 2

(1) Tor=r-f¥=r IITE7on & |ry &FuT #1 I

(2) T w=edt AT T w1 § F=a1 A g Tl

(3) F=a1 F1 AferF deAT § Fua gt 9 I FT THEATAT FT ZA FIA F
(4) =7 F==1 =1 Toregia uger & g1 ag = aa= o g, afeafea w0% aganft

Options:-

«1, Option ID :- 229,
« 2, Option ID :- 230,
=« 3, Option ID :- 231,
« 4, Option ID :- 232,




Answer Given:- 3, Option ID : -231

Question ID:- 59

According to National Curriculum Framework, 2005, which among the following is an activity
based on ‘constructivist’ classroom ?

(1) Teacher solves problem on the blackboard and students copy it.
(2) Teacher observes the group activity and facilitates the students for problem solving.

(3) Teacher asks the students to write important formulae on a chart paper and read them
daily.

(4) Teacher provides lots of homework to the students regularly.

Options:-

«1, Option ID :- 233,
» 2, Option ID :- 234,
« 3, Option ID :- 235,

= 4, Option ID :- 236,
Answer Given:- 2, Option ID : -234

Question ID:- 60

Which of the following is nof related to developing the concept of a circle among primary grade
learners ?

(1) Identifying circular objects from the surroundings
(2)
(3)
(4)

4) Tracing circles using some circular objects

Drawing circles using a rope and a stick in sand

Showing a model of globe in the class

freaforfa & & Fa-a1 gafis =97 F g § 39 1 q@gwon
e 7 FeifaT 7@ g ?

(1) 3o af=er § ATHRE T84T T Tg=aTHAT
(2) ¥ § AT AT ST F TANT T 0G0 FLAT
(3) FHAT | TATE FT ATaHT9 Fam™=T

(4) T ATHIE el STANT ST AN T ATCGT FIAT

Options:-

«1, Option ID :- 237,
« 2, Option ID :- 238,
« 3, Option ID :- 239,
= 4, Option ID :- 240,




Answer Given:- 4, Option ID : -240
Subject : EVS_Q61-75_P1_CTET

Question ID:- 61

L~

(1) 9T%7T T UomTgier § qaa i

(2) THIT (FT7e) FT Uehigie § TZeT il

(3) 9rE=T & CO2 (FTE A STAFATEE) H TTAT 0

(4) @i (=) T COy ( FTaT STEaAFATRe) ¥ T30 it

Options:-

«1, Option ID :- 241,
= 2, Option ID :- 242,
« 3, Option ID :- 243,

» 4, Option ID :- 244,
Answer Given:- 1, Option ID : -241

Question ID:- 62

Your house is located at X and the bookshop is located at Y. Although the market is just
opposite but you cannot go straight because of the busy highway having barriers in between.
So you first go 100 m due North, then cross a 50 m long Zebra Crossing which is due West

and finally reach the bookshop at Y which is 150 m due South. With respect to the bookshop at
Y, the direction of your house at X is

(1) North-East

(2) North-West
(3) South-East
(4) South-West




FrT=RT g7 X 97 foug g #ftT T Y T fRud g | =T Ara= 97 arene F 5
qTHA g, &1 § =7 A, oF 07 TeF @7 g, % For arg T A1 a6
T | AT Tgel 3t 997 |/ 100 m 919 2, T 21 afe=ss & 50 m 7w J@r wie
T F7d g AT A J 3 TR | 150 m T 99 F2 Y 9% Rua hora ag=d
2 | Y UT THT F HIU X 9T AT 7T Ay fFam

(1) ST

(2) sEv-ufe=y
(3) =TT
(4) =Tt

Options:-

=1, Option ID :- 245,
« 2, Option ID :- 246,
= 3, Option ID :- 247,

= 4, Option ID :- 248,
Answer Given:- 1, Option ID : -245

Question ID:- 63
Freeplay is where children

(1) can do outdoor or indoor activities

(2) follow the rules of the play

(3) play gender-specific games as suggested by adults
(

4) organise specific activities

(1) AT AT FET AT T HEA 2
(2) = F T4t 7 ures F9 2
(4) f=feree FRameherTT ATt 29 2

Options:-

«1, Option ID :- 249,
=« 2, Option ID :- 250,
« 3, Option ID :- 251,

= 4, Option ID :- 252,
Answer Given:- 1, Option ID : -249

Question ID:- 64




Sprouting in seeds can take place in the absence of
(1) Sunlight
(2) Air

(3) Moisture
(

4) Moderate temperature

STt =7 T et At § g war g ?
(1) T =7 TaTT

(2) a1

(3) 7t

(4) TeTH 1T

Options:-

«1, Option ID :- 253,
« 2, Option ID :- 254,
=« 3, Option ID :- 255,

= 4, Option ID :- 256,
Answer Given:- 4, Option ID : -256

Question ID:- 65

A person boarded an express train on 5" September, 2022 at Bhiwandi Road Railway Station
for Nagercoil. The train departed at 21:15 hours from Bhiwandi Road and reached Nagercoil at
04:45 hours on 7" September, 2022. If the distance covered by the train is 1877 kilometres, the
average speed of the train is

(1) 60-5 km/h
(2) 59:9 km/h
(3) 59:5 km/h
(4) 59-0 km/h

e =i 5 fHamT, 2022 F1 WEFHEA O & fow 5= 9% @ =29 U7
TSh TFAH 2A J HATE g4 | T 2 21:15 a1 Tt 7€ | =oft 997 7 Haw=w,
2022 FT 04:45 o5 AATHITA TgAT | AT TH THAT HAeqoTel § 2 ZTT FAT T
TV 1877 ez g, AT ea Mg FT0 8

(1) 60-5 km/h

(2) 59-9 km/h

(3) 59-5 km/h

(4) 59-0 km/h




Options:-

«1, Option ID :- 257,
= 2, Option ID :- 258,
« 3, Option ID :- 259,

=« 4, Option ID :- 260,
Answer Given:- 3, Option ID : -259

Question ID:- 66
Pasteurized milk is heated to about then suddenly chilled & stored.

1) 100°C for 15 minutes

2) 100°C for 3 minutes

3) 70°C for 5 minutes

4) 70°C for 15 to 30 seconds

(
(
(
(
TEAFT ST T ATHT @ T (At wrar 2, fr = gty ssr wew
dETIor BT ST E

(1) 15 Tz % form 100° .

(2) 3 fa= ¥ form 100° 4.

(3) 5 fae= & form 70° %

(4) 15 ¥ 30 &=ve ¥ form 70° &,

Options:-

«1, Option ID :- 261,
» 2, Option ID :- 262,
« 3, Option ID :- 263,

=« 4, Option ID :- 264,
Answer Given:- 1, Option ID : -261

Question ID:- 67

Based on the physical charateristics, Pumpkin plant can be classified as a
1) Climber

2) Shrub

3) Creeper

(
(
(
(4) Herb




AT THOTTaet & v o% Feg % e s 73 e v s g 2

(1) AETET &t

(2) FATET

(3) P e

(4) 91T
Options:-

«1, Option ID :- 265,
= 2, Option ID :- 266,
« 3, Option ID :- 267,

= 4, Option ID :- 268,
Answer Given:- 1, Option ID : -265

Question ID:- 68
Reading by touching and feeling with fingers is used by people who are unable to

(1) hear
(2) talk
(3) touch
(

4)see

STl & g T A AEHH FA B 1 (AT T TART I AR ST Bm Sam g
ST

(1) F7 7t 7t
(2) Frr Y T
(3) g el T

(4) T 7 T

Options:-

=1, Option ID :- 269,
« 2, Option ID :- 270,
= 3, Option ID :- 271,

= 4, Option ID :- 272,
Answer Given:- 4, Option ID : -272

Question ID:- 69




The process of cooling due to evaporation is slow when the area of the water surface in
contact with the atmosphere

(1) increases and the atmospheric temperature is high.
(2)
(3)
(4)

4) decreases and the atmospheric temperature is low.

increases and the atmospheric temperature is low.

decreases and the atmospheric temperature is high.

AT & F <o ¥ qfman 7= =/ T g T AgEue T § 9@ & A 15
EARZER T

(1) FEAT g AT ATLHISH T 97T = 211 g |
(2) FEAT g &I ATHIESH I qTT 9+ gram g |
(3) HEAT g Y ATIHISHATT a1 I=o gral g |
(4) ==T € ST AHTE 4 919 99 grar g |

Options:-

«1, Option ID :- 273,
« 2, Option ID :- 274,
« 3, Option ID :- 275,

= 4, Option ID :- 276,
Answer Given:- 2, Option ID : -274

Question ID:- 70

The lively dance form of Bundelkhand region is
(1) Swang
(2) Matki

(3) Bhagoria
(

4) Lavani

(1) =T

(2) FZHht

(3) Tt

(4) Tra=T

Options:-

«1, Option ID :- 277,
« 2, Option ID :- 278,

« 3, Option ID :- 279,




=« 4, Option ID :- 280,
Answer Given:- 3, Option ID : -279

Question ID:- 71

In case of plants, identify the correct option.

A. Plants prevent soil erosion.

B. Dead and dried leaves are used to make fertilizers and pesticides.
C. Animals provide shelter for plants.

D. Plants provide us seeds some of which can be eaten.

1)AandB
2)BandC
3)CandD
4)AandD

(
(
(
(
UTe % "I |, HEl (SweT A Ig=E A |

A. TTE STETTOT T TR 3

B. 97 UA TET afat 3HeE UF FieAred aqi & (o S 2ol g |
C. TS, TTET T AT T2 F9 2 |

D. =& 4 =TSt T2 F7d 2 {oH | T =10 1 756 2 |

(1) ATIT B
(2) BF4T C
(3)C 74T D
(4) ATIT D

Options:-

«1, Option ID :- 281,
« 2, Option ID :- 282,
=« 3, Option ID :- 283,

= 4, Option ID :- 284,
Answer Given:- 4, Option ID : -284

Question ID:- 72
Parts of plants and their roles are mentioned below. The most appropriate statement is

1) Roots connect the plant to the leaves.
2) Fruits help in pollination.

3) Flowers are the reproductive parts of the plant.

e e, e

4) Leaves support the upper part of the plant.




TTET % T qAT I FA1 (GIAET) A= TG TS | TE I w5
®

(1) T 9Tl &0 991 | SEav g |

(2) T TR F HETHAT T2 2 |

(3) T TTE F TS AT A B |

(4) T OYE F FUE WRT A AT AT E

Options:-

«1, Option ID :- 285,
= 2, Option ID :- 286,
« 3, Option ID :- 287,

« 4, Option ID :- 288,
Answer Given:- 3, Option ID : -287

Question ID:- 73

Select from the following a pair of Union Territories of India :

(1) Mizoram and Lakshdweep
(2) Jharkhand and Chhattisgarh
(3) Ladakh and Puducherry

(

4) Jammu and Kashmir and Nagaland

Options:-

«1, Option ID :- 289,
« 2, Option ID :- 290,
« 3, Option ID :- 291,

» 4, Option ID :- 292,
Answer Given:- 3, Option ID : -291

Question ID:- 74

In a cultural festival, Shruti wore a traditional saree/dress of Maharashtra known as
(1) Banarasi
(2) Nauvari
(3) Kalamkari
(4) Jamdani

"]

Options:-
«1, Option ID :- 293,




« 2, Option ID :- 294,
» 3, Option ID :- 295,

= 4, Option ID :- 296,
Answer Given:- 2, Option ID : -294

Question ID:- 75
As per The Prohibition of Child Marriage Act, 2006’ minimum age for marriage in India is

1) 18 years for boys and 18 years for girls
2) 18 years for girls and 21 years for boys

(
(
(3) 21 years for boys and 21 years for girls
(

4) 21 years for girls and 25 years for boys

‘Frar-fAarg e afaf=aw, 2006 F A7 97g § Fag it gaaq g g

(1) =1 * o7 18 77 F47 A= & forw 18 79
(2) et % o 18 77 Fom @g=hi & forw 21 79
(3) T=HT & o 21 a7 FoT A=Al forw 21 39
(4) wefFt ¥ o 21 70 For @g=i % o 25 a0

Options:-

«1, Option ID :- 297,
« 2, Option ID :- 298,
=« 3, Option ID :- 299,

« 4, Option ID :- 300,
Answer Given:- 2, Option ID : -298

Subject : EVS_Q76-90_P1_CTET

Question ID:- 76

Madhu studying in class |1l identifies Rose and Tulsi plants planted at his home. Which of the
following processes are involved in the identification of plants ?

A. Observation

B. Comparison

C. Prediction

D. Decision-making

1A and B
2)BandC
3)CandD
)

(
(
(
(4)D and A




ATl O AT T AT T AT i gort A A e
Tt T T | etertaa § F we-at g e g 2

A. ATATHA

B. @

C. #7HH

D. o=

(1) A#TB

(2)B#TC

(3)C #T D

(4) D == A
Options:-

«1, Option ID :- 301,
» 2, Option ID :- 302,
= 3, Option ID :- 303,

=« 4, Option ID :- 304,
Answer Given:- 3, Option ID : -303

Question ID:- 77

In the teaching-learning of EVS, objective of conducting Nature Walk is

1) to highlight flora and fauna and develop emotional bonding with nature

(

(2) to conduct a virtual tour of nature

(3) to walk in a park and ensure fithess of learners
(

4)to engage learners in gardening and develop a kitchen garden

AT A farerr-arfeee # wept 1 AT q=ATiOrT FIA FIFA G

(1) T S TE AT 97 {39 F9r 97 AT TFA F ATT GrEAare S
Hae FT FAw FEAT

(2) T T T ATATHT ATAT FIAT

(3) T °TE H ¥ FAT AT FRTAT FY argeedl greread weAT

(4) =TT 7 IRTETT | =40 T AT U 00 ai=71 [aanied HeAr

Options:-

«1, Option ID :- 305,
= 2, Option ID :- 306,
« 3, Option ID :- 307,

« 4, Option ID :- 308,
Answer Given:- 1, Option ID : -305




Question ID:- 78

Rezi says that she can not become a truck driver like her father. She has to look after

household and children like her mother. Which of the following method will be most useful to
address this gender related concept in class ?

1) Group Discussion

(1)
(2) Movie demonstration
(3) Role play

(4)

4) Play

ST Fgdl g T ag dus far 1 99g 2% greaY A5l a9 @1 | IH ATAL A/l A
g TE-AT AT g AT =1 il 3@FT 77T g | Fratortad § | f3-41
AT, Ferm § Sev Tael, 20 o F7 HA0T F77 g AAEF ST T

?

(1) Fgg ==t
(2) FA=T qa9T

(3) sfaaT g
(4) &

Options:-

=1, Option ID :- 309,
« 2, Option ID :- 310,
= 3, Option ID :- 311,

= 4, Option ID :- 312,
Answer Given:- 4, Option ID : -312

Question ID:- 79

While teaching EVS to primary school children you happen to come across certain children
who live in single-parent families. What would be your response to such a situation ?

(1) Ignore these children and focus on the theme ‘family and relationships’.
(2)
(3) Highlight difficulties faced by children in such families and focus on the topic.
(4)

4) Incorporate the context of such children and build a culture of empathy.

Sympathise with these children and ask them to explain the term ‘family’.

Options:-

«1, Option ID :- 313,
= 2, Option ID :- 314,
« 3, Option ID :- 315,




« 4, Option ID :- 316,
Answer Given:- 3, Option ID : -315

Question ID:- 80

"~

A, FAT V FT GIAT ¢, A AT (0% Tl TaTat g 6 5T ITe6r gret age 2
g AT T I Fgal g % TT 21T Al AT, F(F T I3T &1 a1 37 o S0 |
i3 arT = & 9087 g, AT ATT FAT FH4 ?

(1) T 1 IMET T TG Tl g, THT Figed F TAT F97 |

(2) T T AT FTh THATUT 3 T 3 Fg I E |

(3) T T A1 F T H FATHT T TAT 12 0471 751 T2 2 |
(4) I | FHgl 1% A TFAAT T Heobed ol HT TH T2 0 ST A7 |

Options:-

=1, Option ID :- 317,
« 2, Option ID :- 318,
« 3, Option ID :- 319,

= 4, Option ID :- 320,
Answer Given:- 4, Option ID : -320

Question ID:- 81
In class-l, as a teacher, you are expected to familiarise learners with the 'senses’. You will

1) ask learners to read about the topic and come prepared for the class.
2) ask learners to write about senses in their own words.

3) use concrete material to depict the function of each sense.

(
(
(
(

4) use role-play to transact the function of each sense.

FT-| F, Torers o =7 § ey e g & e F=ntiet £ st § 9"

FLATE | AT

(1) =t &1 g F 939 7 9g7 % 0 ol 99wy & 90 £ § A & o
Fail |

(2) E=na =1 I AT 953t § Fifeadl & Aag § o F o w27 )

(3) TeaI= HAEAT &1 1 =AW T2 & o0 9F T2 FT STTRT FH4

(4) TETF HASAT FT FHTF ATATIET H7 & o STIanT-TAag T STTHT HeT |

Options:-
«1, Option ID :- 321,




« 2, Option ID :- 322,
« 3, Option ID :- 323,

= 4, Option ID :- 324,
Answer Given:- 4, Option ID : -324

Question ID:- 82
Which of the following statements is the most suitable explanation of the nature of EVS 7

1) Adjustment between human behaviour & ecosystem

(

(2) Education from primary to secondary education

(3) A life-long continuous learning process about environment
(

4) Understanding and information about environment

Options:-

«1, Option ID :- 325,
= 2, Option ID :- 326,
« 3, Option ID :- 327,

« 4, Option ID :- 328,
Answer Given:- 1, Option ID : -325

Question ID:- 83

" ]

FT || F, UF IE0T AAAT TUF F =7 §, Aot FHenfeen w71 A= ofita 7
(1) =TT 1 28 |29 F 987 3T Aed A & o7 Fig |

(2) ITEET & Hgwd U7 Irg U FFge? Teqa 20 (Sarur |

(3) THAT TH TEITIT ATLAT T STANT H93] A I FAAFT 7 70T T |
(4) T=ET & ITIEN w M F o aH=E -t F o g |

Options:-

«1, Option ID :- 329,
= 2, Option ID :- 330,
« 3, Option ID :- 331,

= 4, Option ID :- 332,
Answer Given:- 3, Option ID : -331

Question ID:- 84

" ]




AT FeAAT T T i Rt § 7 91 FAT " e wwe F G160
FLATE ?

(1) TATETT LA FO AT H FE AT @0 727 2 |

(2) TAATT FEAT I== AAHF F4ATeA # Fog (FFw 7 amiew &am) fi
TH AAT ¢ |

(3) TATATIT HLAT TATALT ¥ TATALONT TFETHA F A4 F TEFAT AT
Hagaeiiear g |

(4) TATECIT ALATT TATALONT THEATA Al 2 Foef 1 FAAATE |

Options:-

«1, Option ID :- 333,
« 2, Option ID :- 334,
« 3, Option ID :- 335,

= 4, Option ID :- 336,
Answer Given:- 1, Option ID : -333

Question ID:- 85

Which of the following activities are appropriate for transacting ‘here comes a letter’ to the
students of class Il ?

A. Read chapter on ‘communication’ and do related
exercises.

B. Ask students to collate information and then write in their
own words.

C. Prepare students for letter-writing to their grandparents.

D. Plan a visit to the local post office to experience the
work of a postman.

(1)Aand B

(2)Band C

(3)Aand D

(4)CandD




FaT |1l 5 et £ s Bt arg &, % R ¥ fr, St § §

FA-H AT I 2 2

A. THTT &7 975 Ui T Tafad TSI Sy |

B. Frenfifat =1, T=AT 1 SEHT I Ay o=t § frwy F
fer =2 |

C. fE=riaay &7 39 ITI1-I14T 7 9 forgw & forg qam &7 |

D.STH F F18 #l dq9T F99 & [0 UF T STHIT S Al
TSAT FA12Y |

(1)A#TB

(2)B&TC

(3)A T D

(4)C&#HTD

Options:-

«1, Option ID :- 337,

« 2, Option ID :- 338,

»« 3, Option ID :- 339,

= 4, Option ID :- 340,
Answer Given:- 3, Option ID : -339

Question ID:- 86

Which of the following statements are true in the context of EVS learning of children ?
A. Children are actively connected to the world around them.

B. Children coming from different backgrounds have similar contextual experiences.
C. Diversity makes the teaching-learning process challenging.

D. Diversity is an important resource in teaching-learning process.

1A, BandC

2)A,CandD

3)B,CandD

4)A,BandD

e e




feaferfera 3 & F19-7 F97 T=31 7 TAE0 AL Hiad 73 § 797 2 2
A. =T AT AT T FEAT H HHFT TTH S 2T 2 |

B. H-AHT TEEHTH & AT F==A1 % AH A(9d AT 219 2 |

C. EfFgar - fit TiaT Fi Aot 91T 2 |

D. @Egar Haa-faw £t 9 § ag= §9meT 2 |

(1)A, B #T C
(2)A, C &7 D
(3)B, C &7 D
(4)A, BT D

Options:-

«1, Option ID :- 341,
= 2, Option ID :- 342,
« 3, Option ID :- 343,

» 4, Option ID :- 344,
Answer Given:- 4, Option ID : -344

Question ID:- 87

In order to introduce the topic ‘Birds’ to the students of class IV, which one of the following
would you prefer ?

(1) Provide models of birds along with their names to your students for them to memorise.

3

4) Show a video on birds followed by digital presentation.

)

(2) Ask students to write about ‘Birds’ in their own words.
) Use nature walk to identify local birds, their habits and habiats.
)

(
(

FeT IV & =t =1 B afem g0qa #90 & 997 7, a7 Meffaa 5 9

= g fRaT 397 2

(1) &= TF=TTHET FT 9= F =T 9% A9 60 TAT 5 Jq19, T12 F9A 5
ferm <o |

(2) A=t =1 oferdi % Fua § dua o=t | forad oo 5557

(3) FATHIT TTHAT, It TFHIq T ITH AFTE-EATH il TgAT Feel & T
Tl Fr &% FT ITAE R |

(4) TfEri o< T STEAT T I TATT FE2LET Teqa 160 [=ere |

Options:-

«1, Option ID :- 345,
» 2, Option ID :- 346,
= 3, Option ID :- 347,




« 4, Option ID :- 348,
Answer Given:- 3, Option ID : -347

Question ID:- 88

"~

Options:-

«1, Option ID :- 349,
=« 2, Option ID :- 350,
« 3, Option ID :- 351,

= 4, Option ID :- 352,
Answer Given:- 4, Option ID : -352

Question ID:- 89

L

FET |l § T=oer Srer 1 forqor < gu, FHentee 7 us =g i Jrar

TSTEH AT 7 AT SHTeAT S8 T, aTATal, SeaTis & S G & (o 747

Er e o e e | R R e B e B 2 A

A. fE=nfaa &1 Ao § g2 & e die @{ug 07 e Fing w9 F o
gl |

B. E=nfsrat T UHt 92T Tl F8T T ATAT F2e T T97 5997 |

C. T2 SATHAT HT ATAT F AT THTAAT F ToAT TF T 5 6 [0 FHg 1T |

D. 32 ATHAT Fl ATAT FH3A AT Tea H2eA0 v o= fora & form #5370
|

(1)B &= C

(2)A, B &7 D

(3)A, C &7 D

(4) F== D

Options:-

«1, Option ID :- 353,

« 2, Option ID :- 354,

« 3, Option ID :- 355,

=« 4, Option ID :- 356,
Answer Given:- 4, Option ID : -356

Question ID:- 90




Which of the following objectives is the most important for EVS subject ?

(1) Development of understanding of subject concepts

(2) Development of understanding of practical activity

(3) Development of abilities of observation, enquiry, logic and conclusion
(

4) Development of ability to decide right and wrong on the basis of conscience

TatE Ferae A g Moy & & Fi9-a7 3297 aaia® qga il g ?

(1) BT SEaToma Fi F9 w7 =

(2) rariRr= wiatafer v awsr w1 =Ee

(3) AT, FIoa 1, T 7 Ao 1 dars w1 @3
(4) = % e 9% qEl T A F AT FLA A AHAr w7 Ew

Options:-

«1, Option ID :- 357,
»« 2, Option ID :- 358,
=« 3, Option ID :- 359,

» 4, Option ID :- 360,
Answer Given:- 3, Option ID : -359

Subject : Marathi_Q91-99_L1_P1_CTET

Question ID:- 331
Options:-

«1, Option ID :- 1321,
» 2, Option ID :- 1322,
« 3, Option ID :- 1323,

« 4, Option ID :- 1324,
Answer Given:- 4, Option ID : -1324

Question ID:- 332







G=AT : TET IATT ATAT S0 T4 ATHI2T T GAATH] (77 77,

UHT BATGATE EHRSEedT Huasaar=l HEgsadr, e aigar wee=t
EThAT I A9,

FISHIHI TgId grarl. ARISTAT HIFBT TIAAT I glaT — IrglodTd A= T
BT 75 = 99T S, A AT S AT qaE — dea dRiE
g, AwET Tasdt=ar grei= gia O — Torge war arEt °9rge Sl

THT THT ATST=AT HUVATHD HAT JHAT-THATHIT ZIeeT — T Tl FI=TaT
SHETY T | AT AT STATT 2 UF AW ATS — HISAT TLERTHH AT —
fom TEmnT. FET ATTET TATHENAEET T Y FHAG ad — ArRgersAn
FTEIT=AT ST o 91T FATHIGT T gia. — AT HT ATH=AT Flgl TAT FHT FodT,
d5eT 5 AT TASTLE A SH goal. {0 9% 9 Fe" wrEd T@, Jadi=
SAT=ATH A=A HgH ATAT STT. ST AT 2T T UF A2 AHATAT FIEAT AT,
ot gsw Y. wuﬂﬁ—rﬁwaﬁ'ﬁrww

FT= AT F&T qTEA Tl — HISAT FIT AHITH=AT TETqda= g 39 | @S
ST THAT Segl ST ae — Fgursl T4F T Al oA=L Grar=e A1 dog1 gl
HATTE |1 AT TgUE ATSe | SO, ATT HeAT Foq HL0mer T 907 drg =i,
Wwwwwﬁaﬁ qa:rarrﬁ‘rﬁaevﬁwﬁwﬁ
ﬁﬂ?ﬂﬂ'«'ﬂﬁﬁ ﬁaea?r—ﬂ-ﬁﬁ Eﬂ?—fﬁﬁﬁmm@'ﬁ&mﬁwﬁﬂﬁ—w
Fd AF FATAT TF BT IradiaT T IT=T — Ardar=® T r=ar qqarT
ATSTHYA =% [ed AETS Fid T@Id=T — SEATdat gf AT Irge ATdr 747
SAAT=AT AT AT — S ST — T qeed O S | 39 AATT Feh

“GITHTST AT TE2TAT AT 953 AT

(1) TeT=sr
(2) TfvtTaT




Options:-

2)obE3W 1D :- 1325,
«(2) OpHGHEID :- 1326,
= 3, Option ID :- 1327,

= 4, Option ID :- 1328,
Answer Given:- 1, Option ID

1 -1325

Question ID:- 333

Options:-

«1, Option ID :- 1329,
« 2, Option ID :- 1330,
=« 3, Option ID :- 1331,

« 4, Option ID :- 1332,
Answer Given:- 1, Option ID

1 =1329

Question ID:- 334







G=AT : TET IATT ATAT S0 T4 ATHI2T T GAATH] (77 77,

UHT BATGATE EHRSEedT Huasaar=l HEgsadr, e aigar wee=t
EThAT I A9,

FISHIHI TgId grarl. ARISTAT HIFBT TIAAT I glaT — IrglodTd A= T
BT 75 = 99T S, A AT S AT qaE — dea dRiE
g, AwET Tasdt=ar grei= gia O — Torge war arEt °9rge Sl

THT THT ATST=AT HUVATHD HAT JHAT-THATHIT ZIeeT — T Tl FI=TaT
SHETY T | AT AT STATT 2 UF AW ATS — HISAT TLERTHH AT —
fom TEmnT. FET ATTET TATHENAEET T Y FHAG ad — ArRgersAn
FTEIT=AT ST o 91T FATHIGT T gia. — AT HT ATH=AT Flgl TAT FHT FodT,
d5eT 5 AT TASTLE A SH goal. {0 9% 9 Fe" wrEd T@, Jadi=
SAT=ATH A=A HgH ATAT STT. ST AT 2T T UF A2 AHATAT FIEAT AT,
ot gsw Y. wuﬂﬁ—rﬁwaﬁ'ﬁrww

FT= AT F&T qTEA Tl — HISAT FIT AHITH=AT TETqda= g 39 | @S
ST THAT Segl ST ae — Fgursl T4F T Al oA=L Grar=e A1 dog1 gl
HATTE |1 AT TgUE ATSe | SO, ATT HeAT Foq HL0mer T 907 drg =i,
Wwwwwﬁaﬁ qa:rarrﬁ‘rﬁaevﬁwﬁwﬁ
ﬁﬂ?ﬂﬂ'«'ﬂﬁﬁ ﬁaea?r—ﬂ-ﬁﬁ Eﬂ?—fﬁﬁﬁmm@'ﬁ&mﬁwﬁﬂﬁ—w
Fd AF FATAT TF BT IradiaT T IT=T — Ardar=® T r=ar qqarT
ATSTHYA =% [ed AETS Fid T@Id=T — SEATdat gf AT Irge ATdr 747
SAAT=AT AT AT — S ST — T qeed O S | 39 AATT Feh

(1) HTITT
(2) FTEE




Options:-

2)SBT0h 1D :- 1333,
«(2) OPEBWIID :- 1334,
« 3, Option ID :- 1335,

= 4, Option ID :- 1336,
Answer Given:- 1, Option ID : -1333

Question ID:- 335
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UHT BATGATE EHRSEedT Huasaar=l HEgsadr, e aigar wee=t
EThAT I A9,

FISHIHI TgId grarl. ARISTAT HIFBT TIAAT I glaT — IrglodTd A= T
BT 75 = 99T S, A AT S AT qaE — dea dRiE
g, AwET Tasdt=ar grei= gia O — Torge war arEt °9rge Sl

THT THT ATST=AT HUVATHD HAT JHAT-THATHIT ZIeeT — T Tl FI=TaT
SHETY T | AT AT STATT 2 UF AW ATS — HISAT TLERTHH AT —
fom TEmnT. FET ATTET TATHENAEET T Y FHAG ad — ArRgersAn
FTEIT=AT ST o 91T FATHIGT T gia. — AT HT ATH=AT Flgl TAT FHT FodT,
d5eT 5 AT TASTLE A SH goal. {0 9% 9 Fe" wrEd T@, Jadi=
SAT=ATH A=A HgH ATAT STT. ST AT 2T T UF A2 AHATAT FIEAT AT,
ot gsw Y. wuﬂﬁ—rﬁwaﬁ'ﬁrww

FT= AT F&T qTEA Tl — HISAT FIT AHITH=AT TETqda= g 39 | @S
ST THAT Segl ST ae — Fgursl T4F T Al oA=L Grar=e A1 dog1 gl
HATTE |1 AT TgUE ATSe | SO, ATT HeAT Foq HL0mer T 907 drg =i,
Wwwwwﬁaﬁ qa:rarrﬁ‘rﬁaevﬁwﬁwﬁ
ﬁﬂ?ﬂﬂ'«'ﬂﬁﬁ ﬁaea?r—ﬂ-ﬁﬁ Eﬂ?—fﬁﬁﬁmm@'ﬁ&mﬁwﬁﬂﬁ—w
Fd AF FATAT TF BT IradiaT T IT=T — Ardar=® T r=ar qqarT
ATSTHYA =% [ed AETS Fid T@Id=T — SEATdat gf AT Irge ATdr 747
SAAT=AT AT AT — S ST — T qeed O S | 39 AATT Feh

HIETT 07 AT ATFTATIAT 4 27T
(1) arer=T 70
(2) 72 Zrr




Options:-

B e B T 337,
.(2) Optich IDT:- 1338,
« 3, Option ID :- 1339,

= 4, Option ID :- 1340,
Answer Given:- 2, Option ID

:-1338

Question ID:- 336

Options:-

«1, Option ID :- 1341,
= 2, Option ID :- 1342,
= 3, Option ID :- 1343,

» 4, Option ID :- 1344,
Answer Given:- 2, Option ID

1 -1342

Question ID:- 337

Options:-

«1, Option ID :- 1345,
= 2, Option ID :- 1346,
« 3, Option ID :- 1347,

» 4, Option ID :- 1348,
Answer Given:- 3, Option ID

1 -1347

Question ID:- 338

Options:-

=1, Option ID :- 1349,
« 2, Option ID :- 1350,
« 3, Option ID :- 1351,

= 4, Option ID :- 1352,
Answer Given:- 1, Option ID

1 -1349

Question ID:- 339







G=AT : TET IATT ATAT S0 T4 ATHI2T T GAATH] (77 77,

UHT BATGATE EHRSEedT Huasaar=l HEgsadr, e aigar wee=t
EThAT I A9,

FISHIHI TgId grarl. ARISTAT HIFBT TIAAT I glaT — IrglodTd A= T
BT 75 = 99T S, A AT S AT qaE — dea dRiE
g, AwET Tasdt=ar grei= gia O — Torge war arEt °9rge Sl

THT THT ATST=AT HUVATHD HAT JHAT-THATHIT ZIeeT — T Tl FI=TaT
SHETY T | AT AT STATT 2 UF AW ATS — HISAT TLERTHH AT —
fom TEmnT. FET ATTET TATHENAEET T Y FHAG ad — ArRgersAn
FTEIT=AT ST o 91T FATHIGT T gia. — AT HT ATH=AT Flgl TAT FHT FodT,
d5eT 5 AT TASTLE A SH goal. {0 9% 9 Fe" wrEd T@, Jadi=
SAT=ATH A=A HgH ATAT STT. ST AT 2T T UF A2 AHATAT FIEAT AT,
ot gsw Y. wuﬂﬁ—rﬁwaﬁ'ﬁrww

FT= AT F&T qTEA Tl — HISAT FIT AHITH=AT TETqda= g 39 | @S
ST THAT Segl ST ae — Fgursl T4F T Al oA=L Grar=e A1 dog1 gl
HATTE |1 AT TgUE ATSe | SO, ATT HeAT Foq HL0mer T 907 drg =i,
Wwwwwﬁaﬁ qa:rarrﬁ‘rﬁaevﬁwﬁwﬁ
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Options:-

B)GFAGR D - 1353,
.(2) OpEGRIID :- 1354,
« 3, Option ID :- 1355,

= 4, Option ID :- 1356,
Answer Given:- 3, Option ID : -1355

Subject : Marathi_Q100-105_L1_P1_CTET

Question ID:- 340

GFAT ; GETT FIAqT ATAT AT T2 ATAT21 T TATATHT (7€ F47.

TTAT TR ST
T aTeT 7=

TBATAAT ATHET THAT TTITD I

S °Y (e,

R L e N DI E

AT Tagd el AT AT 9 81 Teel......

FRITAT TAT T q1500 T FChel ATH FHITAT AT T Fr o0g ?

(1) T =TT ATEQLT 0.

(2) Ag@T= T4 T T707 I

(3) TU Fooed AFAT=AT TET FIOT.

(4) THAT TLTAA ATEAA ATZD BT HE0T

Options:-

«1, Option ID :- 1357,
»« 2, Option ID :- 1358,
« 3, Option ID :- 1359,

« 4, Option ID :- 1360,
Answer Given:- 2, Option ID : -1358

Question ID:- 341




Options:-

«1, Option ID :- 1361,
» 2, Option ID :- 1362,
« 3, Option ID :- 1363,

« 4, Option ID :- 1364,
Answer Given:- 1, Option ID

1 =1361

Question ID:- 342

Options:-

«1, Option ID :- 1365,
« 2, Option ID :- 1366,
« 3, Option ID :- 1367,

» 4, Option ID :- 1368,
Answer Given:- 2, Option ID

: -1366

Question ID:- 343




G=AT 21T FH AT AT=7 A0 T TTHRT 97 TIATHT 79 F37.

TTAT HLoHeT ST
o1 ATgT T=.

THATAAT ATHET Toareft TTATDIa

A F¥ [EIe,

A [EIET TeAETar

AT Togd el AT AT T &1 gl

“GTEd = THAFT F1T ?

(1) am=T

(2) T

(3) T

(4) o7
Options:-

«1, Option ID :- 1369,
« 2, Option ID :- 1370,

= 3, Option ID :- 1371,

« 4, Option ID :- 1372,
Answer Given:- 2, Option ID : -1370

Question ID:- 344




G=AT 21T FH AT AT=7 A0 T TTHRT 97 TIATHT 79 F37.

TTAT HLoHeT ST
ot AT TS

THATAAT ATHET Toareft TTATDIa

A F¥ [EIe,

A [EIET TeAETar

AT Togd el AT AT T &1 gl

‘WO THT FAT AITHT 2755 9TTET.
(1) o

(2) FEAAT FTD

(3) Tr=T

(4) TFTAT T

Options:-

«1, Option ID :- 1373,
« 2, Option ID :- 1374,
« 3, Option ID :- 1375,

=« 4, Option ID :- 1376,
Answer Given:- 3, Option ID : -1375

Question ID:- 345

Options:-

«1, Option ID :- 1377,
« 2, Option ID :- 1378,
=« 3, Option ID :- 1379,

« 4, Option ID :- 1380,
Answer Given:- 4, Option ID : -1380




Subject : Marathi_Q106-120_L1_P1_CTET

Question ID:- 346

Options:-

«1, Option ID :- 1381,
»« 2, Option ID :- 1382,
« 3, Option ID :- 1383,

« 4, Option ID :- 1384,
Answer Given:- 3, Option ID : -1383

Question ID:- 347

Options:-

«1, Option ID :- 1385,
« 2, Option ID :- 1386,
= 3, Option ID :- 1387,

»« 4, Option ID :- 1388,
Answer Given:- 3, Option ID : -1387

Question ID:- 348
T HTUTEAT ST 9T ST
(1) STTOT AT TATAFETST & 39
(2) =T AT AT T TS E AT qre
(3) AT wruT formanT Sty forsur AreT 9wy g
(4) AT a7 Forsanr ror fornr A AEADT 55
Options:-
«1, Option ID :- 1389,
« 2, Option ID :- 1390,

=« 3, Option ID :- 1391,

» 4, Option ID :- 1392,
Answer Given:- 3, Option ID : -1391

Question ID:- 349




=reft=ar FAremetar forferT % g ST UHRAS A=A AR AT dare
TIAT T, qHF AT AT T=AT TESET 2 T2 0 (Scaffolding) F3.
TEOTST AT ST AT

(1) Faega ar=e
(2) =T ATAT

(3) S[epufT A=
(4) STTE AT

Options:-

«1, Option ID :- 1393,
« 2, Option ID :- 1394,
« 3, Option ID :- 1395,

« 4, Option ID :- 1396,
Answer Given:- 1, Option ID : -1393

Question ID:- 350

AT AT HESArear qicdied SIUATaT ATEAaaral A Toae
(1) FEFATHE AT
(2) o EatTETT AT foremr Tt
(3) ATE-ATHH
(4) TEaTioe Tz
Options:-

«1, Option ID :- 1397,
»« 2, Option ID :- 1398,
« 3, Option ID :- 1399,

« 4, Option ID :- 1400,
Answer Given:- 3, Option ID : -1399

Question ID:- 351

(1) FE=met=ar ar=T duas TeaHTT 00

(2) FAT 9157 AT T=ET= A TETor

(3) =TT ATFIIET TAE FEOATHST TAT Feed AT I F:eor
(4) ASFHTT ATTLAA SATHLOT T FHSATIA FHET07




Options:-

=1, Option ID :- 1401,
« 2, Option ID :- 1402,
« 3, Option ID :- 1403,

= 4, Option ID :- 1404,
Answer Given:- 3, Option ID : -1403

Question ID:- 352
TIH TR TiEI e Tarer geshi=r TET FF qIaT

(1) FIEA — FSATN — AZHYTAUHT HTTAT — HIATHF (AN — 3 A5
FAEAT

(2) T — TTASH — =(A o7 ATT — HIATHF ArqI) — TgHETITeHF
qTET

(3) THILUN — TAGHUUTHF HATAT — TSASH — =7 9158 HAEAT — HIATHT
Freror

(4) THIEU — TEASU — AGHALTUTHT AT — (A 958 AT — FZATHF
FATAT

Options:-

«1, Option ID :- 1405,
« 2, Option ID :- 1406,
« 3, Option ID :- 1407,

= 4, Option ID :- 1408,
Answer Given:- 2, Option ID : -1406

Question ID:- 353

AT SATTHAE ARTTAT AATHe A Fiad HeoATeft Hafeq g ?
(1) FHETTHT TZAT

(2) FEATTHT ugAT

(3) TATHTAIF TZAT

(4) s T

Options:-

=1, Option ID :- 1409,
« 2, Option ID :- 1410,
= 3, Option ID :- 1411,

= 4, Option ID :- 1412,
Answer Given:- 3, Option ID : -1411




Question ID:- 354

forrs == fEmmeat=aT oA U= FTEOr SETATAH AT

(1) AT FT=0T
(2) AT FTHUT
(3) TTeT=HT FT=HTI
(4) &HAT ATV

Options:-

«1, Option ID :- 1413,
»« 2, Option ID :- 1414,
« 3, Option ID :- 1415,

= 4, Option ID :- 1416,
Answer Given:- 1, Option ID : -1413

Question ID:- 355

ST HA SIS ET418g A0 Ty FL0AT=A1 A qihd T 9T FH, T aEl(
F7 QT

(1) TAT=AT ATHTISEG ATALAHIAT T AT H00

(2) Tt ferfg vt ¥8 el g AT=AT TTelshiaT HHerae JE0

(3) FATAT ASATATT HIA FLOATHT AT=AT TTAHAT TAAAT FH70T

(4) TAT=AT WA ST I iHT JT=oi =0y
Options:-

«1, Option ID :- 1417,

»« 2, Option ID :- 1418,

« 3, Option ID :- 1419,

« 4, Option ID :- 1420,
Answer Given:- 1, Option ID : -1417

Question ID:- 356




ARATH D ATAT ATIT STAAT (F2ET) ZTat. BT TIET AT FEeRTar=ar 20 FH et
(1) FATAT AT AATT ATTUF TATALOTAT FATT gIav
(2) HATHET T2l ST 219 20
(3) AT=ATHET ATATATAT ETHAT o[
(4) TATAT FTUTET=AT FTUTEAT TT0ATHT ATAT ATAET 2ral
Options:-
»1, Option ID :- 1421,
« 2, Option ID :- 1422,
« 3, Option ID :- 1423,

» 4, Option ID :- 1424,
Answer Given:- 1, Option ID : -1421

Question ID:- 357
=TAg#ar (Pragmatics)  TTEe f=er F44.
(1) ST | oo
(2) 9TTeA= ATHTIAT T 10T
(3) oTTEAe ter TTOTAIT= T ATOT
(4) FTRerTf wrT
Options:-
«1, Option ID :- 1425,
« 2, Option ID :- 1426,

=« 3, Option ID :- 1427,

» 4, Option ID :- 1428,
Answer Given:- 4, Option ID : -1428

Question ID:- 358

ST ?

(1) =TT

(2) eT=% 7T

(3) =TT FHIT
(4) Fta=T =TT

Options:-




«1, Option ID :- 1429,
» 2, Option ID :- 1430,
= 3, Option ID :- 1431,

« 4, Option ID :- 1432,
Answer Given:- 4, Option ID : -1432

Question ID:- 359

& qTaT forwaaraT =T EwT R YEgrauT Sr F=war e tAvararst
HAT AT ?
(1) Sreerey Tt
(2) AT AL THAT
(3) o ugf
(4) AT=T-sTTi T
Options:-
«1, Option ID :- 1433,
« 2, Option ID :- 1434,
« 3, Option ID :- 1435,

=« 4, Option ID :- 1436,
Answer Given:- 1, Option ID : -1433

Question ID:- 360
it vt are FEauTihaT wgoret oA er AEAsar aranad a6T ATgr ?
(1) FrEm=r=a gET aEaATaaT T e,
(2) FHT, ATHe THAT FERTALNA 953 TT=AT THAHET ATSHIST 3.
(3) TFIT forTeT Frerear Arfr aweg A=A oo w1
(4) T FHTHT SATTAAT AT T ZEATAL AT THEAT HATT Fre.
Options:-
=1, Option ID :- 1437,
= 2, Option ID :- 1438,

« 3, Option ID :- 1439,

= 4, Option ID :- 1440,
Answer Given:- 2, Option ID : -1438

Subject : HIN_Q121-128_L2_P1_CTET

Question ID:- 541

L

Options:-




«1, Option ID :- 2161,
« 2, Option ID :- 2162,
« 3, Option ID :- 2163,

« 4, Option ID :- 2164,
Answer Given:- 2, Option ID : -2162

Question ID:- 542

fAder : fREfoaa T=er F1 9277 g T7 T491 % agi/aa9 399 I97 T
faFeT &1 AT |

AU AT & FAAT § TAZTAT AAT T T qgq SA71 g | Irgid A0 q97
T ATT-ATHATTT T ATHT ATSTEAT SO0 ZTT -5 F TgAAT 2 | 7 THer qrar
% TP Fid A1 A9 8 | T AII-ATH S 7@l TL ATaarHl S0t AT HT
9% A9 T 924 g | AETHA GIEAl T o0 AZH T2 (A FT qfqaar1g) §
fremeratt 919 % UF A § 79 1882 F fadaw #rg § gam 47 | 3% fuar wramw
=T =TT = JIAT AT ATH AT AT A7 | AR UAH A =509 § AW "
T TAT Figd F | 7 T=IA T EF TSIl T | T TgA-forad § 798 99 7
It Ha § o7 == oft | Fga € a9 A g 7 T Faar w72 a v q |
T A9 % ZA-21d 7 A=Gl Haard a=q @90 | T o T9T § FHaar-arEt |
IAT FIAAT AT TGET FA A | I BT UgATH F I ATRA-THT 4T
HATE-SHT & | IR TEAAT FT I H AT | TEAT H AR Il FHftdary
AT {21 0 | TAT § TeadT @ Fa7 | ITI F THH g arasnia geadr
FT A Y FuTre § Eegiud B

HETE[TIH CHTLAT F HIAT-T0ar &1 T AT

(1) =&t sz vE =ET = 9297

(2) TTEHAT FFATA TF == F=THT F77

(3) TEHT yFHTe UA =T F|rHT AT

(4) =T AFATT UH T = 3

Options:-

«1, Option ID :- 2165,
= 2, Option ID :- 2166,
« 3, Option ID :- 2167,

= 4, Option ID :- 2168,
Answer Given:- 4, Option ID : -2168

Question ID:- 543

Options:-




«1, Option ID :- 2169,
» 2, Option ID :- 2170,
« 3, Option ID :- 2171,

« 4, Option ID :- 2172,
Answer Given:- 2, Option ID : -2170

Question ID:- 544

fAder : fREfoaa T=er F1 9277 g T7 T491 % agi/aa9 399 I97 T
faFeT &1 AT |

AU AT & FAAT § TAZTAT AAT T T qgq SA71 g | Irgid A0 q97
T ATT-ATHATTT T ATHT ATSTEAT SO0 ZTT -5 F TgAAT 2 | 7 THer qrar
% TP Fid A1 A9 8 | T AII-ATH S 7@l TL ATaarHl S0t AT HT
9% A9 T 924 g | AETHA GIEAl T o0 AZH T2 (A FT qfqaar1g) §
fremeratt 919 % UF A § 79 1882 F fadaw #rg § gam 47 | 3% fuar wramw
=T =TT = JIAT AT ATH AT AT A7 | AR UAH A =509 § AW "
T TAT Figd F | 7 T=IA T EF TSIl T | T TgA-forad § 798 99 7
It Ha § o7 == oft | Fga € a9 A g 7 T Faar w72 a v q |
T A9 % ZA-21d 7 A=Gl Haard a=q @90 | T o T9T § FHaar-arEt |
IAT FIAAT AT TGET FA A | I BT UgATH F I ATRA-THT 4T
HATE-SHT & | IR TEAAT FT I H AT | TEAT H AR Il FHftdary
AT {21 0 | TAT § TeadT @ Fa7 | ITI F THH g arasnia geadr
T “qrdr =t aTrer F fEegiee BT

HETE[TIH QLA fory ararsnia; 9% 7 9AE BT T g, =i

(1) T T=TT F & F AT IO 7

(2) T AT = FT TH F FHiaaT orae o9 o
(3) & wBE 7Y AT 3G H FiF 77 M0
(4) 7 agi F forg FfEar T

Options:-

«1, Option ID :- 2173,
= 2, Option ID :- 2174,
« 3, Option ID :- 2175,

= 4, Option ID :- 2176,
Answer Given:- 4, Option ID : -2176

Question ID:- 545

Options:-




«1, Option ID :- 2177,
« 2, Option ID :- 2178,
« 3, Option ID :- 2179,
« 4, Option ID :- 2180,

Answer Given:- 4, Option ID : -2180
Question ID:- 546

Options:-

«1, Option ID :- 2181,

« 2, Option ID :- 2182,

« 3, Option ID :- 2183,

»« 4, Option ID :- 2184,

Answer Given:- 1, Option ID : -2181
Question ID:- 547

Options:-

«1, Option ID :- 2185,

= 2, Option ID :- 2186,

« 3, Option ID :- 2187,

« 4, Option ID :- 2188,

Answer Given:- 3, Option ID : -2187

Question ID:- 548




fAder : fREforaa T=er F1 9277 T T7 T497 % agi/aa9 394 397 qT
fAFeT @i AT |

THHT AT & HEA § GHAE0AT AT T FF Tgd S=7 8 | Irgid A0 97
T ATT-ATHATTT T ATHT ATSTEAT SO0 ZTT -5 F TgAAT 2 | 7 THer qrar
F TP FE AT ST g | TIHT ATIT-ATHT N ASE T ATCAaaTHT Ieht T=AATH T
qF AT A TET g | AR AEAT BT T AR TR (A HT AAAE) H
fasaeraet 919 % UF Tia § a9 1882 % Frda< 9rg & gar 47 | 37 foar &7 71
=T =TT = JIAT AT ATH AT AT A7 | AR UAH A =509 § AW "
AT AT Fgd F | T TAIT F g7 AA9TTAT T | T Iga-foras § 2 991 7 |
et |t F oF == oft | Fga € F w9 a9 i g § & T Faar w9 aiq q |
TTE A9 T ZA-ald 3 A=gt FHaant a9 99 | T 2 F97 § Fwiaar-areet Fff
IAT FIAAT AT TGET FA 0 | I BAT UATH F I ATRA-THT 4T
AT o | IRIT FEAAT FT ITATC H AT | AT H A0 60 FHiaarg
HRT T B0 AT | TEAT F T2 AT FE FAL | TS0 o THA e ATerhia qeedm
FT A 1 arre 7 Egiud HEr

AT AT FT IIG2W 2

(1) FEm

(2) @ArsTEAT

(3) wferar

(4) |raT

Options:-

«1, Option ID :- 2189,
« 2, Option ID :- 2190,
=« 3, Option ID :- 2191,

» 4, Option ID :- 2192,
Answer Given:- 3, Option ID : -2191

Subject : HIN_Q129-135_L2_P1_CTET

Question ID:- 549
Options:-

«1, Option ID :- 2193,
»« 2, Option ID :- 2194,
« 3, Option ID :- 2195,

« 4, Option ID :- 2196,
Answer Given:- 2, Option ID : -2194




Question ID:- 550

Options:-

=1, Option ID :- 2197,
« 2, Option ID :- 2198,
« 3, Option ID :- 2199,

= 4, Option ID :- 2200,
Answer Given:- 1, Option ID : -2197

Question ID:- 551

fAder : fREfoaa T=er F1 9277 g T7 T491 % agi/aa9 399 I97 T
faseT & Fi07 |

Ao ot § a5 & a3 =t o aea 91 335 § | 7w F i gEed 2
TAFL I AT T AT | TGO F T F T T@EL 00 TG T T A av
F=Zoam g, 7 ofter 1 297 97 T I AT | T HEgl{ET FEATT | BT & ZrEA 6 0

a7 i fAuf=r T aret=t ST g | 9T =9 T Oifa-TUT 997 §E@=g gr 2 |
fAae el T Fad T IHHT /T grad a9ar g | G FL A a9 T qgal g,
WE T I HAEF i 9T T4 g | 9T uA AEEE T 39 TEE o
g | T FT ALATATH TATT T@AT1 AR |

ST &% 77 = oI =T T A1ie 2
(1) STLTATT TEAT =ATRY

(2) FHET FT THTLTH fAFH1e=T1 A2
(3) erifd =TT T=AT AT

(4) AT =T 347 AR

Options:-

«1, Option ID :- 2201,
« 2, Option ID :- 2202,
=« 3, Option ID :- 2203,

« 4, Option ID :- 2204,
Answer Given:- 4, Option ID : -2204

Question ID:- 552
Options:-

«1, Option ID :- 2205,
= 2, Option ID :- 2206,
« 3, Option ID :- 2207,




= 4, Option ID :- 2208,
Answer Given:- 3, Option ID : -2207

Question ID:- 553

Options:-

«1, Option ID :- 2209,
« 2, Option ID :- 2210,
« 3, Option ID :- 2211,

« 4, Option ID :- 2212,
Answer Given:- 2, Option ID : -2210

Question ID:- 554

fAder ; fAefefaa =TT #1 18%7 99 0 T4 % Ggi/Fa99 g9g g% qT0
faFeT & Fi7 |

Aot aftfeafagt § a8 & a8 =i 1 aET a1 9349 2 | 990 F7 gi=ad grd
TEFHT T AT T AT | FF1 T GF F FeET 3@EL 00 IGTT 9% F 9789 Av
o o, 7 ofver 1 29 U2 T AT T | AT HGIIE FEATT | 5 F g F T
a7 AT FFafr it arei=1 grat g | AT =9 | oiTa-T4 9497 gE=g g g |
a7 "90T 1 AAT T IAFT AT gTEA a97aT g | 9907 FE &1 99 T% Agav g,
S o ST AR 9Tk (6T Tl @ | ATTeh U T L0 39 g o
2 | § HT ATATAT AT TFAT AT |

EIRIGENE R R

(1) 51

(2) ==

(3) 7%

(4) =

Options:-

»1, Option ID :- 2213,
« 2, Option ID :- 2214,

« 3, Option ID :- 2215,

= 4, Option ID :- 2216,
Answer Given:- 3, Option ID : -2215

Question ID:- 555




fAder : fAefafaa =T #1 8% Q9 7 T41 % Agi/aad 3Ug 9% qT6
fAFeT @i AT |

Ao ot § a5 & a3 =t o aea 91 335 § | 7w F i gEed 2
T T € G A0 | GG A GF F Fead 3@E T 9977 9% 5 189 91
2o o, T ofter &1 97 9T FTL 90 AT | 7T T FgaATw | /T F g 6 41eg
T I i T A9 ST 2 | A =" & Aii-197 997 Fa=g g0 2 |
fRaT Sod 1 Fed F IAFT A g @9ar g | 997 FL AT q9 T AT 7,
ST T I AR iR 8T T2AT | ATETTen U HIE 0 0 3 SRS ¢
2 | I AT AT A0 T@AT =120 |

‘TS H TS AMh AT ATed AT a3 2 | ATgier | e o= g
(1) T2
(2) 7
(3) dr
(4) 2
Options:-
«1, Option ID :- 2217,
« 2, Option ID :- 2218,

« 3, Option ID :- 2219,

« 4, Option ID :- 2220,
Answer Given:- 2, Option ID : -2218

Subject : HIN_Q136-150_L2_P1_CTET

Question ID:- 556

HEAT 2 7 T ATt =97 o 1 ST THe AT 2 AT T FAT THT B § 721 g
| BT § s w2 e ¥ 2, o € ol weer arsmmt § it a9 g ven
H oTTHHeT 21 & | = T AEA FLIEME |

(1) F=ermems 739

(2) HETWITeHT T34
(3) Tt TBA
(4) FET TH

Options:-

«1, Option ID :- 2221,
« 2, Option ID :- 2222,
« 3, Option ID :- 2223,
« 4, Option ID :- 2224,




Answer Given:- 4, Option ID : -2224

Question ID:- 557
Options:-

«1, Option ID :- 2225,
« 2, Option ID :- 2226,
= 3, Option ID :- 2227,

« 4, Option ID :- 2228,
Answer Given:- 1, Option ID : -2225

Question ID:- 558

ATTFT (A) -

g TEA-TorET H 9gel TEA-forae ® a1 § 7 S g, Ig TEIaE ArAwar
i %’l

FTT(R) :

TTIHE AT57aT Agl o 9% 2 9|l g 59 T4 qegmaedT s@9ra s forar
D) F Iew a7 FEre § ggar-fomaar $tma 2
feforfas e # & a3t 397 %1 997 it

(1) (A) 7 (R) 141 727 £ 307 (R), (A) 3 T27 = 2 |

(2) (A) 9T (R) T T4 €, A (R), (A) %7 €T =11 T2 2 |

(3) (A) &reT €, =i (R) ST 2 |

(4) (A) s g, @i (R) I 2 |

Options:-

«1, Option ID :- 2229,
« 2, Option ID :- 2230,
= 3, Option ID :- 2231,

« 4, Option ID :- 2232,
Answer Given:- 3, Option ID : -2231

Question ID:- 559

IE A ST AR-STHIEFAT, T THEFHAT AT A=1 H AIT T TEwhar i
AT T ST F2AT 3, S AT & A7 Ha@T q1er F1 A0 &7 7 97 et
= =

<

(1) FTEATAT TRTEHAT

(2) =TT STRT=HAT

(3) TEITOT AT

(4) AT STRT=hdT




Options:-

«1, Option ID :- 2233,
« 2, Option ID :- 2234,
« 3, Option ID :- 2235,

» 4, Option ID :- 2236,
Answer Given:- 3, Option ID : -2235

Question ID:- 560

qg 9T FAwTT ST U9 9O T AFGaT gHArA K AT FAT B,
4

e EEIER

(2) RERwET

(3) Fe=rfea

(4) etz

AP

Options:-

«1, Option ID :- 2237,
« 2, Option ID :- 2238,
=« 3, Option ID :- 2239,

« 4, Option ID :- 2240,
Answer Given:- 2, Option ID : -2238

Question ID:- 561

FIA-H1 TEIT TG T FAT-FHH H I 9T ATq=ATT A ATHA F2l & HATL 37 TT
a9 TAqT g o agi Fr Sftad it qreatas Fafadi w1 aar f7T F5 e
AT 2

(1) ST araT-fore uEie

Options:-

=1, Option ID :- 2241,
« 2, Option ID :- 2242,
« 3, Option ID :- 2243,

= 4, Option ID :- 2244,
Answer Given:- 1, Option ID : -2241

Question ID:- 562




FHATAT (BHIAIT) FT I o H 2 |
(1) o ¥ T

(2) 37 o152

(3) e w7 g=T

(4) Ter AT

Options:-

«1, Option ID :- 2245,
« 2, Option ID :- 2246,
« 3, Option ID :- 2247,

= 4, Option ID :- 2248,
Answer Given:- 4, Option ID : -2248

Question ID:- 563

e TATerRT AT HSTATHE (ST F FwH F w7 H g Arr-fasee | @
T g 98 AT TETET T AT Al 2 |

(1) st TS

(2) .. e

(3) T AT

(4) T w9

Options:-

«1, Option ID :- 2249,
« 2, Option ID :- 2250,
« 3, Option ID :- 2251,

» 4, Option ID :- 2252,
Answer Given:- 1, Option ID : -2249

Question ID:- 564
ATYT-FEreAmT it A THC- AT TZ T T AT IS 2 |
(1) =1 Fez-favg F =0 F Aror-a4mT
(2) Ta-Ffega forermm
B EREIC-GRTEL
(4) HrE % 2 IO AT 58 FIA
Options:-

«1, Option ID :- 2253,
« 2, Option ID :- 2254,




« 3, Option ID :- 2255,

« 4, Option ID :- 2256,
Answer Given:- 4, Option ID : -2256

Question ID:- 565

Feforfas 5 9 -t sr=mrems v £ o agfes 2

(1) ATAT-FTLAT & HALT 0 0T THHT TN AT ST TFaw g |

(2) AT HHEAT-405 | Herrere = o gHeht $An B S ' 2 |

(3) farearta=i =1 AT ATeAT FHEATAT AT QAT 1 Tg=ATT F d1F T4 Han
ST & |

(4) T AFAT A=l U7 90T & Hia" F7 qodiwa F747 |

Options:-

«1, Option ID :- 2257,
« 2, Option ID :- 2258,
=« 3, Option ID :- 2259,

« 4, Option ID :- 2260,
Answer Given:- 4, Option ID : -2260

Question ID:- 566

Faforfas § & Fra-a7 agaiusar % a1 § 9 dgle ?

(1) Tg == &t 97 &7 Feney i 97 F 7 78S S0 U 9 34972 |

(2) 72 =9 919 F gATT F79 § 732 Fa7 2 % 27 agn Ao o F=29 F
forT -39 = =79 Frere 9ty F7 7 |

(3) T TH AT T AT F3A H H3% F2dl ¢ T A€ aF FAT § A1 AT

(4) =gATIeR AFT 6 T IF TSATHCHS TATATIA gl g T & THerard T =51
T AT H FEAfors = 7 AL T A g |

Options:-

«1, Option ID :- 2261,
« 2, Option ID :- 2262,
« 3, Option ID :- 2263,

= 4, Option ID :- 2264,
Answer Given:- 2, Option ID : -2262

Question ID:- 567




qTaT-foreqr & FT FEl A9 UF Hgoagol ST Famer 2 1| Fe 599 F
Teg § it § F F9-a7 F99 9309 qgea i g ?

(1) T F4AT F AHI-FHATT FT FoIT F7a7 ¢ |
(2) g ATHT T IO BT H §o= 4 FAT g |
(3) Tg 9t H oAt =1 AT F7a1 2 |

(4) TF TFT F T=3-9ET FT A5 F7AT 2 |

Options:-

«1, Option ID :- 2265,
= 2, Option ID :- 2266,
« 3, Option ID :- 2267,

» 4, Option ID :- 2268,
Answer Given:- 3, Option ID : -2267

Question ID:- 568

FEAT 1 6 TFT F0 TZI & (10 g8 Witas ATT & (2 9% A2 £21 247 A0
| et & & F9-ar Fardt aeae et w5 w97 1 ¥ qifEs 97 &
HALT & AT FATIAT ?

(1) gfer-fearg
(2) =R &
(3) i T

(4) AT HraeT

Options:-

«1, Option ID :- 2269,
« 2, Option ID :- 2270,
=« 3, Option ID :- 2271,

« 4, Option ID :- 2272,
Answer Given:- 3, Option ID : -2271

Question ID:- 569




I Pt e e ) B = e B | R £ e I e =l B O =

T T 7 31 &, A7 (ISt FT F4T FeAT AT 2
T TRAT AT |

(2) forerm =iv 7g gFtET Far Fen & goi foemdt 719 § fer a7 i s
ALY TN H3AT AT |

(3) fereaTf&=i it FTF=T FT ATZL FA gU v GIE AT AT |

(4) 72 AT F7A7 =i & forart am & ofw 7 5=t |

Options:-

«1, Option ID :- 2273,
« 2, Option ID :- 2274,
« 3, Option ID :- 2275,

» 4, Option ID :- 2276,
Answer Given:- 2, Option ID : -2274

Question ID:- 570

TR ¥ 77 e O 1At i e & oy afeuited w4 g, #=itw
(1) FTT FTAT TH T £ |

(2) T THET HIET Hrgrert it =6 F7AT 2 |

(3) TZ Ig, FATHIL a7+ § HIE FAT 2 |

(4) 7g UTHer 07 Il THE I AT a1t g |

Options:-

«1, Option ID :- 2277,
« 2, Option ID :- 2278,
=« 3, Option ID :- 2279,

« 4, Option ID :- 2280,
Answer Given:- 2, Option ID : -2278
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